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BEWARE OF NEGATIVE MARKING

TOPIC : FULL SYLLABUS (MODEL)

SECTION-A

Attempt All 35 Questions

The radius of aballis (5.4 *0.2) cm. The percentage
error in the volume of the ball is :

1) 1%
@) 4%
3) 7%
@) 9%.

Assertion: An exact number has infinite number
of significant digits.

Reason: Anumber, which is not a measured value
has infinite number of significant digits.

M

If both assertion and reason are frue and the reason
is the correct explanation of the assertion

If both assertion and reason are true but reason is l
not the correct explanation of the assertion

@)
(3) If assertion is frue but reason is false I
()
If the momentum of electron is changed by P, then
the de-Broglie wavelength associated with it
changes by 0.4%. The initial momentum of
electron will be :

(1) 250P
(2) 200P

It the assertion and reason both are false

P
@ 00
(@) 100P

A car moves with uniform acceleration upto some
distance. Initial and final velocities are u and v
then velocity at half way of the car will be :

(1)

1

E(u+v)
1 2 2

2 E(u +Vv4)

@3

@ 5
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2.

U A @) f3ear (5.220.2) cm 2, 99 g6 AEaH o
‘]ﬁl‘lﬂgﬁgz

(1) 1%

(2) 4%

(3) 7%

@) 9%.
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lonisation potential off hydrogen atom is 13.6 V.
The least energy of photon of Balmer series is :

(1) 34
(2) 1.89
(3) 10.2
4) 85
A p-n photodiode is fabricated from a

semiconductor with a band gap of 2.5 eV. It can
detect a signal of wavelength :

(1)4000 nm

(2) 6000 nm
(3) 4000 A
(4) 6000 A

Two fixed frictionless inclined plane making an
angle 30° and 60° with the vertical are shown in
the figure. Two blocks A and B are placed on the
two planes. What is the relative vertical |
acceleration of A with respecttoB :

30°

(1) 4.9 ms?in vertical direction
(2) 4.9 ms?in horizontal direction
(3) 9.8 ms2in vertical direction
4) zero.

Steam is passed into 22g of water at 20°C. What
mass of water will be present when the water is
at 90°C7? (latent heat of steam = 2260 J g, specific
heat of water =4.2 J g~ deg C) :

(1) 36.6g
@) 26.2g
(3) 25.0¢
(4) 24.8g.

5.

IT.

BTSN TV T 3 e 13.6 V21 a0R st
HicHl @t e et it

(1) 34
2) 1.89
(3) 10.2
(4) 85

2.5eV & dvg iy 919 U JLAIAS ¥ p-nhlcEEE
T S 21 9% e A 3 fre oty ) gghe W
A

(1)4000 nm

(2) 6000 nm

(3) 4000 A

(4) 6000 A

2 R TivRRRT A9 wrad REER 2, S SR 300
THT 60° D R I 21 <Y [Eh AT Bl 3 dell
9 Tl I 21 AT B S aier amifdie staler e
2

30°

(1) Sreamer feom & 4.9 ms2
() &t fam § 4.9 ms=
(3) SreAmeR fRmm & 9.8 ms2

@) I3

20°C W 22g 9 ¥ 1Y qaifed &) Sl 21 5 el )
90°C 9X % a1 irar 2, At I &1 R s=a s=an
21 (YT 9 I e = 2260 J g, I A falee
S =4.2J)g'degC):

(1) 3669
(2) 26.2g
(3) 25.0g
(4) 24.8g.

NLI/4



10.

1.

12.

13.

Two simple harmonic motions are given by x, = a
in ot ot and in ot 2 t
sin ot + a cos wt and x, = a sin et + cos at.
2 ﬁ

The ratio of the amplitudes of first and second
motion and the phase difference between them
are respectively:

3 T
> and —
0 ;s

s
(@ —5and
(3) iandi

3 T
NE) 12 4) \/g and 5

Abody is projected at an angle 30° to the horizontal
with speed 30 m/s. What is the angle with horizontal

after 1.5 sec (Take g = 10m/s?) :

(1) 60°

(2) 3

@) 0

4) 45°

Assertion: Maxwell speed distribution graph is
symmetric about most probable speed.

V3

Reason: rms speed of ideal gas, depends upon
it's type (monoatomic, diatomic and polyatomic).
(1) Ifboth assertion and reason are true and the reason

is the correct explanation of the assertion

(2) If both assertion and reason are true but reason is
not the correct explanation of the assertion

(3) If assertion is true but reason is false

(4) It the assertion and reason both are false

A ball of mass 1g and charge 10-2C moves from a
point A. where potential is 600 V to the point B
where potential is zero. Velocity of the ball at the
point B is 20 cm/s. The velocity of the ball at the
point A will be:

(1) 22.8 cm/s
(3) 16.8m/s

(2) 228 cm/s
(4) 168 m/s

Two waves y, = Acos(0.51x —100nt)
and y, = Acos(0.461x —92xt)

are travelling in a pipe placed along x-axis. Find
the number of times intensity is maximum in time

interval of 1 sec.
(1) 4 2) 6

@3) 8 @) 10

10.

1.
I

12.

13.
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14.

15.

16.

17.

18.

Two particles A and B are moving in uniform
circular motion in concentric circles of radius r,
and r, with speed v, and v, respectively. The time
period of rotation is the same. The ratio of angular
speed of A to that of B will be:

(1)yr,:ry

(2)v, v,

(3)ry:r,

4)1:1

A particle in a certain conservative force field has

20xy
z

apotential energy given by U= . The force

exerted on it is:

o (2232
o (THTIHT)
o ()
o () (2

Star A has radius r surface temperature T while
star B has radius 4r and surface temperature T/2.
The ratio of the power of starts, P, : P, is:

(1) 16:1
@ 1:16
@) 1:1
@ 1:4

Force between two objects of equal masses is F.
If 25% mass of one object is transferred to the other
ohject, then the new force will be:

U3 @ 3,

3 EF 4) F

(3) 7g @)

In planetary motion, the angular momentum
conservation leads to the law of:

(1) Orbits

(2) Areas

(3) Periods

(4) Conservation of kinetic energy

14.

15.

16.

17.

18.
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19.

20.

21.

22,

23.

A small disc of radius 2 cm is cut from a disc of
radius 6 cm. If the distance between their centres
is 3.2 cm, what is the shift in the centre of mass of
the disc :

(1) 0.4cm
(2) 24cm
(3) 1.8¢cm
4) 1.2cm
A homogeneous solid cylindrical roller of radius
R and mass M is pulled on a cricket pitch by a
horizontal force. Assuming rolling without
slipping, angular acceleration of the cylinder is :

3F

(1) 2mR

F

2 3MR

2F

® 3mr |

F

@ ZmR |

In a region the intensity of an electric field is 54

given by E= 2f+3}+§ in NC-'. The electric flux |
through a surface S =10 i m?in the region is:
(1) 5Nm*cC™

(2) 10Nm*C"

(3) 15Nm* C™

(4) 20Nm? C™

At node in stationary waves :

(1) Change in pressure and density are maximum
(2) Change in pressure and density are minimum
(3) Strain is zero

(4) Energy is maximum.

When the switch S, in the circuit shown, is closed,
then the value of current | will be
20V i i, 10V
A 2Q Y B
20
S
-;— V=0
(1) 3A 2 5A
(3) 4A 4 2A

19.

20.

22,

23.
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il
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F
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2F

3) 3R

@ e
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(1) 5Nm?C™

(2) 10Nm?> C™'

(3) 15Nm* C"
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s
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24,

25,

26.

27.

In the circuit the potential difference hetween A
and B is:

10
M—aw———]
50 10 v

A D) ’ I C B
N—ww—

(1) 6V
@ 1V
(3 3V
@ 2V
An object is placed in front of a convex mirror of
focal length f. Find the maximum and minimum

distance of an object from the mirror such that the
image formed is real and magnified

(1) 2f and Infinity
(2)fand 2f |
(3)fand 0

(4) None of these l

The magnitude of the magnetic field at the centre 26,

of an equilateral triangular loop of side 1m which |
is carrying a current of 10 Aiis [Take p = 4n *x 10~
NA7]

(1) 18uT
2) 3T
(3) T
@) ouT

One of the two identical conducting wires oflength
L is bent in the form of a circular loop and the
other one into a circular coil of N identical turns.
If the same current is passed in both, the ratio of
the magnetic field at the centre of the loop (B ) to

that at the centre of the coil (B,)i.e. B “ will be
c

1
M N
2 N2
1
N2
4 N

@3

24,

25.

27.
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A BRI [ p, = 4n % 107 NA? ]
(1) 18uT
(2) 3uT
(3) T
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28.

29,

30.

3.

A and B are two conductors carrying a currentiin
the same direction. x and y are two electron beams
moving in the same direction:

== A

There will be repulsion between Aand B attraction
between x and y
(4

There will be attraction between Aand B, repulsion
between x and y

3)

There will be repulsion between Aand B and also x
andy

There will be attraction between Aand B and also
xandy

@)

A prism of refractive index B and angle A is
placed in the minimum deviation position. If the
angle of minimum deviation is A, then the value l
of Ain terms of M is:

0 sin*(;J
-4 p-1
@) sin ”T

1 E
(3) 2cos (2J

@ cos”(})

In the hysteresis cycle, the value of H needed to
make the intensity of magnetisation zero is called

(1) Retentivity

(2) Coercive force

(3) Lorentzforce

(4) None of the above

Susceptibility of ferromagnetic substance is
(1 =1

@) <1

@ 0

@ 1

28.

29,

30.

3.

AFR B2 e 21 240 ¥ 19R9aT 9t ur v & R
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A= 2 99
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(1) sin™ [%)

u—1

2) sin™
1 E
(3) 2cos (ZJ

(4) COS(%)

MR 9 A, H &1 4 SaaEr & o TR 89 &
= & & o s 2,

(1) ST

(2) feamieT

(3) W~ T=

(4) IR F A T

e ey gerf &t ARewar &1 aF @

NLI/9



32.

33.

34.

35.

A compound microscope has an eye piece of focal
length 10 cm and objective of focal length 4 cm.
Calculate the magnification, if an object is kept at
a distancec of 5 cm from the objective so that final
image is formed at the least distance vision (20
cm)

(1 12

2 1"

(3) 10

4) 13

if the angle of dip at a place in two planes are 30°
and 45° respectively then ratio of horizontal
components of earth's magnetic field at the two
places will be

1 J3:42
@ 1:42
(3) 1:43

4) 1:2

Two uniform magnetic field B and H are
perpendicular to each other at a place. When a
magnetic needle is placed in the field in rest
making angle 60° and 30° with B and H
respectively , it The value of B: H is

(1 1:2

2 2:1

(3 V3:1
4 1:43

Following figure show the arrangement of bar
magnets in different configurations. Each magnet
has magnetic dipole moment . Which
configuration has highest net magnetic dipole
moment.

N
A B. |[N S
s |s N 5 N
N
N
C ' 30° D 60°
& g S N

(1) C
3) A

@ D
4) B

32.

33.

35.

U g el A AR oo JfigEE 9 wiew
@q\’fﬂﬂl‘ﬂ: 10 cm T1 4 cm 21 R et asg =
ARgErs ¥ 5 cm I T8 W@ 9A 99 Ao wffe
wree gfte &t <A T (20 cm) R 94 B, wiafaie
& AL B

(1) 12

@ 1

3) 10

@) 13

=8l <t aal = 1 ST I 30° 7T 45° ©), A
I Il TPl B geIhed & &R Tl H1 FgI
B

(1) J3:42

@) 4.2

3) 1:43

@ 1.2

T T R A PTG & BT H TER oead 21 99
U T g3 &89 A @ SR 2, 99 R 9w 60°
a 30° & AV H9W: BT HA 99l 21 B : Hal 9
BN

@ 152

) 251

3 V3:1
@ 1:3
InRE A 57 (IT) TuH A Faeaal & e =3
T 21 IS TS 5 oya el q, 21 e R

¥ we Fag faya sl &1 a9 At s
N
A B. [N S
s [s N 5 N
N
N
C 30° D 60°
f'.-"’( N S"'.- N
(1) € ) D
3) 4) B
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This section will have 15 questions. Candidate can
choose to attempt any 10 questions out of these 15
questions. In case if candidate attempts more than
10 questions, first 10 attempted questions will be
considered for marking.

qus-B

T |Us & 1573 21 el 37 1575 F ¥ 93 o
109% & ghar 21 I g9zl 109 aftes 9= &1

IR a1 2 Ot = R 5T 721 1095 € W= =)

36.

37.

38.

39.

The number of turns of primary and secondary
coils of a transformer are 5 and 10 respectively
and the mutual inductance of the transformer is
25 henry. Now the number of turns in the primary
and secondary of the transformer are made 10 and
5 respectively. The mutual inductance of the
transformer in henry will be:

(1) 6.25

(2) 125

(3) 25

4) 50

The resistance and inductance of series circuit
are 50 and 20 H respectively. At the instant of

closing the switch, the current is increasing at the
rate 4A/s. The supply voltage is:

(1) 20V

(2 80V

(3) 120V

4) 100V

When unpolarised light beam is incident from air
into glass (n = 1.5) at the polarising angle:

(1) Reflected beam is polarised 100 percent

(2) Reflected and refracted beams are partially polarised

(3) The reason for (a) is that almost all the light is
reflected

4) Allof the above

Consider a Young's double slit experiment as
shown in figure. What should be the slit separation
d in terms of wavelength ) such that the first
minima occurs directly in front of the slit (S,)

T }S‘P 1* minima
Sourcedl l
: 2d—Screen

36.

37.

| 38.

39.

U TEERIT @l grafres o1 e fueel B &t

T FAM: 5 9T 10 21 TUT JERAR H I

U 25 B0 21 3 QERRR =l b T B

FHuSel A B FH G FAA: 10 T 5 T @ AR

TIRER T a1 F= Wahed 394 A s

(1) 6.25

2) 125

3) 25

@) 50

o Avi aftey A iy o S # w9 w50

R 20 H2 Rea 9= 9 T uIT gfe i W4A's.

21 geals e Bl

(1) 20V

2) 80V

(3) 120V

(4) 100V

W YT IHAYS ag HF (n = 1.5/ a8 W

&[T SIvT JATfee <t 2 4

(1) TIERIT I 100 g Fm

(2) Tuafda ga safid I sl gfed Bid @

(3) (a)® For Frwr g% 7 foF T ol Yo wWafia B
2

@) I o=
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% 99 w9 ¥ Ria & 99 9 g9 9t 98 @ dvn
B R o s BT (5,) & St e aear @

T %S, .................. L Ph minima
Sourcedl l
: 2d—{Screen
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40. Two wires are made of the same material and

41.

42,

have the same volume. However wire 1 has cross-
sectional area A and wire 2 has cross-sectional
area 3A. If the length of wire 1 increases by Ax
on applying force F, how much force is needed to
stretch wire 2 by the same amount:

(1 F

@) 4F
(3) 6F
@) 9F

A plane electromagnetic wave is propagating
along the z direction. If the electric field

component of this wave is in the direciton (j+j),

then which of the following is the direction of the
magnetic field component

() (-i+7)
@ (-1
® - |

@ (i+k) |

AN LCR series ac circuit is at resonance with 10V 42.

each across L, C and R. If the resistance is halved,
the respective voltages across L, C and R are:

(1) 10V, 10V and 5V
) 10V, 10Vand 10V
@) 5V,5Vand5V

4) 20V,20Vand 10V

The current i in a coil varies with time as shown
in the figure. The variation of induced emf with
time would be

i

L ot
T4 T2 3T/4 T

emf
T2 37/4T
0 t
(1) T/4
emf
o T/4 {
@) T2 3T/A T

0

40.

1.

43.

v & 1ot 4 FRfT & )t 9 SEee o 9 2
Yo 9K 1 T 3T IR=3T S=hd ATd AR 20
g9 IR=ST A% 3A2 | AR T FIM WaAR 1
A A ax W I AR 2 9w ar 2% @ ofe
FE & forg fras aa 9 Jrazawar i

(1) F

@) 4F

(3) 6F

@) 9F

U SR AT gaid 9% z 31T & 9e 9aRa
IR T P e A @ wew R (j+j) A A Fm=

¥ A gaEg & @ gew &t fean @ Al

(M (=i+7)

@ (-

@) (-i-])

@ (+k)

g% LCR it , ac 9RYy @« L, C a9 RS R W

10 Ve U 3191 R 21 afe afekier amen & fean oy
9 L, CHaTR. & 40 W aiedw ahmi

(1) 10V, 10 V J41 5V

(2) 10V, 10V 10V

@) 5V,5Vaa5V

(4) 20V, 20 Vg 10V

Tt Feel A Rg@urr | &1 9 IREER &9 3
o TRfada 2ar 2 9 =R e T 99 = 9m e e
% 9/ YRafda shm

0" 74 12 3178 T

emf

T2 3T/AT

(1y O[Ta

emf

T/4

(2 ° T2 3774 T
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44,

45,

emf

AN

T4 T23T4 T

o

©)

emf

Ta 1723114 T

@ N N\

The electric flux through the surface

O

m a

s

dm

(1) in figure (1V) is the largest
(2) in figure (Il1) is the least

(3) in figure (ll) is same as in figure (lll) but is smaller
than figure (IV)

(4) in the same for all the figures.

In the series combination of n cells, each cell is
having emf E and internal resistance r. If three
cells are wrongly concerning then total emf and
internal resistance of the combination will be:

(1) nE,(nr- 3r)

(2) (nE-2E), nr
(3) (nE-4E), nr
(4) (nNE-6E), nr

Two Statements are given below:

Statement - | Displacement current goes through
the gap between the plates of a capacitor when
the charge of the capacitor does not change.

Statement - Il The displacement current arises in
the region in which the electric field and hence
the electric flux does not change with time

In the light of the above statements, choose the
most appropriate answer from the options given
below :

(1) Both Statement | and Statement |l are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement |l is correct

(4) Both Statement | and Statement |l are correct.

emf

. ]
¥ i
" '

T4 T23T4 T

[=]

3

0 TI'4 T2 37:/4 T,

44. ¥aEl ¥ oA T TS T B 7

s
)] (11)
(I
(1) f 4 ¥ 9= S )
@) o 3 ¥ ol 9 2
3) F’orF 2 iR R 3 ¥ o & g R 4 A o B
@) @9 ey % g 2

45. n ¥l & A GG ¥ 7w A9 F1 oo E I
FraRs gk r2, 9 3 39 I @9 ° 9 wdeE
7 ge4 faoaroao va ger v s ?
(1) nE,(nr - 3r)
(2) (nE - 2E), nr
(3) (nE - 4E), nr
(4) (nE - 6E), nr

46. TR AFEREICE

Y LGRS F wiel & e e a 99 Sk 2
W 9oIRT Ft IRy wRafa a st wr =t

&9 |1 : e oy 99 &8 3 81 @ Redt R 8
3R T v g & A gRafda & Sar 21

I T B g A AR e e e F 9 ey
F I9gFd IR H TG99 NI

(1) &9 | 3R FuT 11 A4 T 2

(2) F9 1981 8 Wl 9 11919 =

(3) FUF |7 B Al U 1198 2

4) F99 | 30 F9 11 A1 98 T

NLI/13



47.

48,

49.

50.

Two Statements are given below:

Statement - | The maximum intensity in
interference pattern is four times the intensity due
to each slit.

Statement - Il Intensity is directly proportional to
square of amplitude.

In the light of the above statements, choose the
most appropriate answer from the options given
below :

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct
(4) Both Statement | and Statement || are correct.
The di-electric constant of a material can not be
(1) 4

(2) 05

3 1

@) 6

For certain gas if y=155:

31
C,=—R
) 11

21
Cy =—R
@ Cy=1,

20
Cp==—R

@ Cr=T,
11
Cy=—=R

@ Cv==

The resistance of a platinum wire at 20°C and 50°C

is 20 2 and 60 {2 respectively. At 30°C its resistance
will be :

() 35 Q
) 38 Q
3) 43 Q
@) 48 Q

47.

48,

49,

50.

T fReaw?

Y |: FRAEHT 1T A e deaar #7 9 T
B 21

FY || AT JAW D T B FHIIE S 2
I HYl B G A T Ry 19 faweq) ¥ 9 @iy
% ITYFd I HT 99 HIg

(1) FUT | AR Y 1 S T S

(2) FU 198 & AT U |1 T =

(3) FUT |7 8 e e |1Es 2

(4) F9 | 3 FU 1 3 98 2

Fordt gert =1 yudegare <TE 2@ g 21

(1) 4

2) 05

3 1

4) 6

fordl 0 & faw y=1.55: & «it-

31
C, =—R
(1) p 11

21
2y Cy =—R
2) Cy 11

20
Cp =R
@ Cr=1

@ Cy="R

QAT F IR FHT IR 20°C YT 50°C R HHI;: 20 Q
ik 60 2 1 30° W gty BT~

(1) 35 Q

(2) 38 Q

(3) 43 Q

(4) 48 Q
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TOPIC : FULL SYLLABUS (MODEL)

Atomic Masses : H=1, He=4, C=12, N=14, 0=16, Na=23, Mg=24, P=31, 5=32, CI=35 5,
K=39, Ca=40, Fe=56, Cu=63.5, Br=80, Ag=108, I=127, Ba=137, Au=197

SECTION-A

Attempt All 35 Questions

51.

52.

53.

54.

The oxidation state of carbon in carbon suboxide
is:

(1) 0, +1

(2) 0, +2

(3) 0, +4

4) 0,+3

Given below are two statements: one is labelled 52,

as Assertion(A) and the other is labelled as
Reason (R).

Assertion(A): I
PH, has lower boiling point than NH..

Reason(R): |
In NH,, hydrogen bonding exist which increases
its boiling point. I

In the light of the above statements, choose the
most appropriate answer from the options given
below:

(1) Both (A) and (R) are correct but (R) is not the
correct exaplanation of (A)

(2) (A) is correct but (R) is not correct
(3) (A) is not correct but (R) is correct

(4) Both (A) and (R) are correct and (R) is the correct
explanation of (A)

Choose the incorrect statement :
(1) KO, is paramagnetic

(2) Lithium is weakest reducing agent among all alkali
metals

(3) Lithium forms oxide on reaction with O,

(4) Li has highest melting point among all alkali
metals.

Alkaline earth metals when dissolve in liquid NH,
it gives :

(1) Red solution

(2) Green solution

(3) Deep blue black solution

(4) White solution

HUs-A

wf 3573 afar 2

51.

53.

FIE GIATTAIEE A T At AT AT R
(
2
3
(@) 0, +3

A & For feg e 3 - v W FF (A) IR @
HROT (R) & &9 & oot Fopam wmar 21

FYT (A):

0, +1

)

) 0, +2
) 0, +4
)

PH, =T Fa%is NH & & 21
R (R) :

NH, ¥ srggior 9u 2 R aure @ I8 T39S
it 21

IRed Sl & ge A, R Ry W fasweul ¥ @
TS I I BT 99 W :

(1) 2 (A) 3R (R) @&t & fthT (R) 98 e =8
2 (A)

(2) (A) @t B A (R) a8 181 B

(3) (A) 98 781 & WAfFT (R) 921 B

(4) TF (A) 3T (R) T8 & 3T (R) 961 T 3 (A)
AT HY 9IS :

(1) KO, SIgva 2|

(2) T T orget ¥ i 99 gie SuEE 2
(3) ==, 0,3 |y fhdr Y W SiTaraTgE ST B
(@) = &g Urgai W, Li sl Tl gared 21

& =T g3 ol =T NH, % Hies 92 frear 21
(1) = o=

(2) &Y o=

(3) Y A e faegA

(4) whe faemm
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55.

56.

57.

58.

59.

60.

In group 13 elements, which has highest density:
(1) B (2) Ga

(3) In @ T

In diamond, hybridisation of each C is :

(1) sp

(2) sp?

(3) spd

4) sp’

In S estimation, 0.157 g of an organic compound
gave 0.4813 gm of BaSO,. What is percentage of
S in the compound :

(1) 32%
() 42.10%
(3) 52 %
4) 52.10 %

2CH, + Oy Cu/523K/100 atm

A Ais:

(1) HCHO

(2) CH,CHO

(3) CH,OH

(@) CH,

The correct relation between AH and AU is :
(1) AH=AU-AnRT

(2) AH=AU +AnRT

(3) AH =AU + An_

(4) AH =AU - An,

Given below are two statements :
Statement I:

Lanthanoids exhibit +3 common oxidation state.
Statement Il :

Ce can also show +4 oxidation state.

In the light of the above statements, choose the
most appropriate answer from the options given
below :

(1) Both Statement | and Statement Il are incorrect
(2) Statementlis correct but Statement Il isincorrect
(3) Statement | is incorrect but Statement Il is correct

(4) Both Statement | and Statement |l are correct.

55.

56.

57.

58.

59.

60.

WE 13 dedl A Geled 99T @ ¢

(1) B (2) Ga
3) In @

R A CHY gFHer Jaer 2

(1) sp

(2) sp?

(3) spd

4) sp®

s & fawdyer &, 0.157 g ST 9 0.4813 g
BaSO,3dr 2, @ifis A S & ufvwa 2 :

(1) 32%
) 42.10%
3) 52 %
(4) 52.10 %

Cu/523K /100 atm

2CH4 + 05 A,A%® :

(1) HCHO

(2) CH,CHO

(3) CH,OH

(4) CH,

AH 3R AUH |8 9521 @

(1) AH=AU-AnRT

(2) AH=AU +An RT

(3) AH=AU+An_

(4) AH=AU - An_

RAFFRemwe:

YA I

A-IATEE +3 FiTrdier e yeifa w21
Y Il :

Ce +4 Jifaiietur 3raeur +ft vefifa &l 21
IR By & dof ¥ IR Ry 1w fawa ¥ 3
i I9gad IO ol 94 Fifg

(1) T4 | 3R F2F 11 3 T 2

(2) F 198§ QfehT e 11 e 7

(3) U |7 § SR Y 11EE R

(4) o | 3T o 11 D) a8 2
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62.

63.

64.

as Assertion(A) and the other is labelled as
Reason (R).

Assertion(A):
Among Be, N, Rb, F most metallic is Rb.

Reason(R):

Metallic character of element decreases from top
to bottom in a group and it increases from left to
right in the period.

In the light of the above statements, choose the
most appropriate answer from the options given
below:

(1) Both (A) and (R) are correct but (R) is not the
correct exaplanation of (A)

(2) (A)is correct but (R) is not correct
(3) (A)is not correct but (R) is correct

(4) Both (A)and (R) are correct and (R) is the correct
explanation of (A)

Identify the incorrect match :

A B

a. Mgo Basic

b. CLO, Acidic

c. ALO, Amphoteric
d. SO, Basic

(1) a

2 b

@) c

@) d

The value of one debye unit is equal to :
(1) 3x10%Cm

(2) 3.99x103°Cm

(3) 3.33x103°Cm

(4) 3.33x10*Cm

sp hybridisation is also called :

(1) Diagonal hybridisation

(2) Simple hybridisation

(3) Molar hybridisation

(4) Square hybridisation

| 62.

61.

63.

A < A RY AT T : O Sl YA (A) FR TEt
FHRT (R) & ¥ A o=l foram @ 21

Ty (A):

Be, N, Rb, F ¥ ¥afftra enfcas Rb2:

I (R) :

e ¥ FWF - 9 R aikas y5iv 92 9Rd 2
W AEd A A¢ ¥ Y M W 9 W 2

IR Fy & g A, R Ry e e 7 @
T9d IGFT IO T FGT MW :

(1) 3F (A) 3R (R) 981 & o (R) 98 =grean &
2 (A)

(2) (A) @&t 2 A (R) 81 21 2

(3) (A) 98I T8I & =ifT (R) 981 &

(4) T (A) 3R (R) T8 B 3R (R) 961 T1iseor & (A)
I FH I Frer L

A B
a. Mgo &g

b. CLO, i
c. ALO, Eaibii]
d. SO, Gt
(1) a

() b

3) c

(4) d

U 3t T AM 2

(1) 3x10Cm
(2) 3.99x10-%Cm
(3) 3.33x10-%Cm
(4) 3.33x10-Cm
spw 7
OREEREETY
(2) ATRIT FehioT
(3) HIeR Heheor

(4) T FHT
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65.

66.

67.

68.

In given P-V diagram choose correct order for | 65.

temperature :

_U
bl

(1) T,<T,<T,
@ T=T,*T,
@) T,=T,=T,
@) TeLsT,

Given below are two statements: one is labelled = 66.

as Assertion(A) and the other is labelled as
Reason (R).

Assertion(A):
The geometry of PCI, is trigonal bipyramidal.
Reason(R): |

Geometry of compound is decided by minimum
repulsion of bond pair and lone pair of electrons. |

In the light of the above statements, choose the
most appropriate answer from the options given
below: |

(1) Both (A) and (R) are correct but (R) is not the
correct exaplanation of (A)

(2) (A)is correct but (R) is not correct
(3) (A) is not correct but (R) is correct

{(4) Both (A) and (R) are correct and (R) is the correct
explanation of (A)

Which condition will favour maximum formation
of product in reaction :

A,(g)+B,(g) = X,(g), AH=-xKJ.
(1) Low temperature and high pressure
(2) Low temperature and low pressure
(3) High temperature and high pressure

(4) High temperature and low pressure

Which is correct relation between C, and C, for 63.

one mole of ideal gas :
(1) C,=RC,

2 C.+C, =R

3) C.-C,=R

@ C,=RC,

67.

P-viE ¥ ay 2q 98 ey 2 ¢

P K
T,

2
3

——

v
(1) T,<T,<T,
@ T,>T,>T,
() T,=T,=T,
(4) T,>T,=T,

A 3 o Ry e ¥ - o W O (A) IR TR A
FRY (R) B &7 ¥ aer forar mr 21

w9 (A):

PC1 @ st il iR &1

FRY (R):

aifirs @ vfidg 9T ger & e R 9
TAaC & Tl g9 2 FrafRa 2k 2

I F @ g A, SR Ry 1w Rt ¥ 3
HR IR IO & TG W :

(1) 2R (A) 3R (R) w&t & afF (R) 98 e =8
2 (A)

(2) (A) wE B AfF (R) 76 781

(3) (A) T8 7 % A (R) w8l 2

(4) 31 (A) 3R (R) T8 & 3R (R) Fe Tiavr 2 (A)

aififRar & Seure feifor e @it =d 2
A(@)+B,(g) = X,(g), AH=—xKJ.

(1) =9 A9 IR I=A =@

(2) 9 A9 AR FH @

(3) I=9 A9 SR I=T @

(4) I=F T 3R FH @

U Wiid ey 3G €, T C, . F T B

(1) C,=RC,

(2) C,+C,=R

@3 C,— G, =R

(4) C,=RC,
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69.

70.

71.

72.

73.

Which has maximum number of atoms :

(1) 1gmofAg

(2) 1gm of Mg

(3) 1gmof O,

(4) 1gmoflLi

The orbital angular momentum of s-electron is :

(1) zero
h

2 N

) ‘fﬂh

J6h

2n

)

AgBrshows :

(1) Frenkel defect
(2) Schottky defect
(3) Both1and 2
(4) None of these

The boiling point of benzene is 353.23 K. When
1.80 gm of non voletile solute was dissolved in 90
gm of benzene the boiling point is raised to 354.11
K. Find molar mass of solute : [K, for benzene =
2.53 K Kg mol')
(1) 16
(2) 29
(3) 106
(4) 58
The standard electrode potential for daniel cell
is 1.1 V. The standard Gibbs energy for reaction
is:

Zn(5]+Cu2*(aq) - an*(aq} + Cu(s)
(1) —212.27 KJ mol-’
(2) —112.27 KJ mol™
(3) =312.27 KJ mol”’

(4) —412.27 KJ mol

69.

70.

71.

72.

73.

Forea Torg qamgal Y g A @
(1) 1gmofAg

(2) 1gm of Mg

(3) Tgmof O,

(4) 1gm ofLi

sIACI B FHENT hIviig G4 2 -

(1) =

AgBryeRfq war @ :
(1) %ehdl 3

(2) e A

(3) < 13ie 2

(4) IE 78

Aol T FaYI 353.23 K21 o9 1.80 gm g3
fastg 90 gmaSiE A 9l 1€ R FauE 354.11
Kag ar1 faed =1 ARk g2/ 8 : [§iF & fog
K, =2.53 K Kg mol™)

(1) 16
(2) 29
(3) 106
(@) 58

e A 2 INF FaErs fviT 1.1 v s
Y IS fisa et 2

Zn(s)+Cu2*{ﬂq) - an*{aq] + Cu(s)
(1) —212.27 KJ mol~'
2) —112.27 KJ mol”
{3) —312.27 KJ mol'

(4) —412.27 KJ mol"
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74.

75.

76.

77.

78.

Given below are two statements: one is labelled | 74.

as Assertion(A) and the other is labelled as
Reason (R).

Assertion(A):
Cl has more electron affinity than F.
Reason(R):

In non metals, electron affinity of 3™ period
element is higher than that of 2" period element
due to less inter electronic repulsion in third
period non metal.

In the light of the above statements, choose the
most appropriate answer from the options given
below:

(1) Both (A) and (R) are correct but (R) is not the
correct exaplanation of (A)

(2) (A)is correct but (R) is not correct
(3) (A)is not carrect but (R) is correct

(4) Both (A)and (R) are correct and (R) is the correct
explanation of (A)

The intercept in the graph of log x/m Vs log P in | 75.

freundlich isothermis :
(1) 1/n |
(2) logn

(3) log k |
4) log x

The formula of siderite is : 76.

(1) Fes,
(2) Fe,0,
(3) Fe,0,
(4) FeCO,

CH,+0, %A+ H,0, Ais : 7.

(1) HCHO
(2) CO+H,
(3) C,HOH
(4) CH,COOH

Among HF, HCI, HBr & Hl which has highestbond | 78.

length?
(1) HF
(2) HCl
(3) HBr
4 H

R @ Fu Re 1w 2 : o @t Y (A) IRTR F
FRT (R) D &7 & o=et fopar 1mr 21

HY (A):
CI 9l gelargiT Jyar F4 3iftrs 21
HRY (R) :

gt A, JiT ad aed I gAagl S B
e I € Ffern 2 i g JEd aeng ¥ 9
I g o 21

G FYAl & 9o A, i Ry 1w Rweat F 9
T8 IUGFT I BT 94T M :

(1) B4 (A) 3R (R) 98 & wferT (R) 98t = w81
2 (A)

(2) (A) 98 8 Afehe (R) @&t 181 8
(3) (A) &8 781 & oife (R) w81 B
(4) FF (A) 3T (R) E8) 3 3R (R) 961 SCIaaor & (A)
Helrr T ¥ log x/m Vs log PU% & 31 €@

(1) 1/n
(2) logn
(3) log k

{(4) log x

GENECE R E
(1) FeS,

(2) Fe,0,

(3) Fe,0,

(4) FeCO,

M

OZOJ .
CH,+0, ——=—A+H0, A2 :

(1) HCHO
(2) CO+H,

(3) C,H,OH

(4) CH,COOH

HF, HCI, HBr & HI ¥ wai=a 94 &+ 1E @ :
(1) HF

(2) HCl

(3) HBr

{4) H
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79.

80.

81.

82.

83.

84,

Oganesson is member of :
(1) Group 16
(2) Group 17
(3) Group 18
(4) Group 15

Transition element which does not exhibit
variable oxidation state is:

(1) Ti
) Sc
@) &

(4) Mn

Which of the following can show +7 oxidation g1

state?
(1) Ac

@ Tn

(3) Np

@) Lr

The hybridisation of [Ni(CN) ] is :
(1) sp’

(2) dsp?

(3) d’sp?

@) sp’d®

Alkyl iodide are often prepared by the reaction
of alkyl chlorides/Bromides with Na | in dry
Acetone. This reaction is known as :

(1) Swarts reaction

(2) Finkelstein reaction
(3) Aldol condensation
(4) Cannizaro reaction

(i)X,|RedP
T

R-CH, - COOH R-CH-COOH

&
(X=Cl, Br)

The reaction is called :

(1) Hell-vol hard Zelinsky reaction
(2) Etardreaction

(3) Aldol condensation

(4) Cannizaro reaction

79.

80.

82,

83.

AR 92 @
(1) 795 16
(2) T 17
(3) TE 18
(4) @& 15

FHAYT d9 o IRa< STriihT 9wy yehia [8r
ﬁ?ﬁ%:

(1) Ti
(2) Sc
(3) Cr
(4) Mn
gﬂ%ﬁaa#'aﬁqwmmwﬁhm

(1) A

2) Tn

(3) Np

4) Lr

[Ni(CN),J*- 3t Feheor HaeT 2
(1) sp?

(2) dsp?

(3) d’sp®

(4) sp’d®

Wm/mﬁmalﬁwwﬁqim
FH ¥ vicshel SIS SHET ©, Sifiidar @

1) \@T¢ AR

(2) TheereiiteT Afeiferan
(3) v HH

(4) e s

R~ CH, ~COOH 422 R — CH- COOH
X

EEE

(X=ClI, Br)
R 2 :
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85. Given below are two statements :

Statement I:

Aldehyde and ketones are generally prepared by
oxidation of primary and secondary alcohol
respectively.

Statement Il :

Treating a nitrile with grignard reagent followed
by hydrolysis yields a alcohol.

In the light of the above statements, choose the
most appropriate answer from the options given
below :

(1) Both Statement | and Statement |l are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct

(4) Both Statement | and Statement Il are correct.

SECTION-B

This section will have 15 questions. Candidate can
choose to attempt any 10 questions out of these 15
questions. In case if candidate attempts more than

10 questions, first 10 attempted questions will be l

considered for marking.

85.

R AR
&Y I

A efeeerge 9 SicH, TS 9 fidias towhisd &
AT / Sar 21

YA l:

ArEgrEd A REE aiftveste A frar @ oa @ frar
FE W ehled S

IR FH B G ¥ e e e o) F 3 w4y
& IIGad I & 999 T :

(1) F9 | 3R F9 1| 2 e 7

(2) U |18 3 Afer e 1l 7

(3) FYUF 1719 B Al U 1198 2

(4) FYT | 3R FUF 11 B 98 2

B

74 @og ¥ 1595 21 e} 37 1595 F @ S o
10 93 Y Geha 2 1 AT Q& 109 il w27 &1
IR A1 2 o o TR §¢ T2 1095 &1 9y Bt

86. Glucose on prolonged heating with HI, forms : 86. ;@aﬁ N HI? s fFT R e e
(1) Gluconic acid (1) TIRF IR
(2) Saccharic acid (2) JFRE T
(3) n-Hexane (3) nTF
(@) Maltose (4) WSt
87. Nylon- 6,6 is prepared by condensation | g7, IquERRlA sl &) fhad T ageliawr v
ipolymerisation of hexamethylene diamine with: YT AAAT- 6,6 a4l 2 :
(1) Ethylene glycol (1) TATERRA TSI
(2) Acrylonitrile (2) UerTSell BIEWEC]
(3) Styrlene (3) TR
(4) Adipic acid (4) wafuw s
88. Which is not Artificial Sweetening Agents : 88. Ffafaa ® =i aiﬁ-q et 4 2 -
(1) Aspartame (1) TEaeH
(2) Novestrol (2) AR
(3) Saccharin (3) SR
(4) Sucrolose (4) TeRIerST
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89.

90.

91.

92,

93.

NH,
NaNO, H,0
@ +HCI A wanm

CH,

() @ @ @

OH CHO
@)[t] @)

Aspirin is also called :

(1) Acetylsalicylic acid

(2) Salicylic acid

(3) Methyl salicylic acid

(4) Acetic acid

Identify the incorrect match :
A B

(1) Alcohol Lucas test

(2) Aldehyde Hinsberg test

(3) Alkenes Bayer's test

@) 1°Amine Carbylamine test

Which has maximum boiling point:

(1) n-butane

(2) methoxyethane

(3) Propanol

(4) Acetone

CHO
HNO, /H,S0, .
273_283 K Product, Productis :
CHO CHO
O,
JoaCIe!
NO,
CHO
(3) (4) None of these
NO,

B+N,+HCI,Bis:

91.

89.

90.

92.

93.

NH,
[tj NaNO, ,A— O BN, +HCI,BR? :
CH,
(1) @ 2 Q)
OH CHO
3 Ej] (4)
el Feamr €
(1) whifee Afafefoer srer
() Hffafers v
(3) A Afafaferr s
(4) Tt T
A FAT T Frer &
A B
(1) Teehted g e
(2) vfteeres EGELR |
(3) Te=hiA T e
(4) 1°w= TG JUETT
Fdleg FAIF © :
(1) n=ge
(2) TR
(3) Unete
(4) WM
CHO
e g, SR E
CHO CHO
) @’NOZ @
NO,
CHO
@ (4) T A B TR
NO,
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94,

95.

96.

97.

98.

99.

100.

For which of the reaction K, =K_:
(1) Ny, +3H,,, =2NH

(@) 280, *+ O, =250,

(3) Hy, =1 2HI

-+
2(g) ()

(@) PCl,, =PCl, + Cl

3(g) 2(g)

IUPAC name of CH, = CH-CH,— CH,- C=CHiis,

3(g)

(1) 1, 5-hexenyne
(2) 1-hexene-5-yne
(3) 1-hexyne-5-ene
(4) 1, 5-hexynene

The most stable corbocation, among the following
is:

+
(1) (CH3)}3C-CH-CHq
+
(2) CHz -CHp —~CH-CH, —-CHy
£
(3) CH3z -CH-CHy —CH, —CHj3

+
(4) CHz-CHp—-CHy

95.

96.

Which isotopes of hydrogen has maximum boiling | 97.

point :

(1) Protium

(2) Deuterium

(3) Tritium

(4) Allhave same value

Clean water have BOD value :
(1) Sppm

(2) less than 5 ppm

(3) more than 5 ppm

(4) None of these

The conjugate acid of NH, is :
(1) NH,*
(2) NH,-
(3) NH,OH
(4) NH,CI

The unit of rate constant for first order reaction
is:

(1) mol lit" s7'7

2 s’

(3) mol" lits™

4) molllit

98.

99.

100.

e iR & R K, = K2 :
(1) N, +3H, —2NH

2(g) 2(g) 3(g)

(2) 280, + O,,, =280
3) Hy, =1y, * 2HI

2(0) ®
(4) PCly,, = PCly, + Cl,,

?ﬁ‘%‘ :CHZ = CH-CH,- CH,- C=CH&T Jsg .4l
(1) 1, 5-hexenyne

(2) 1-hexene-5-yne

(3) 1-hexyne-5-ene

(4) 1,5-hexynene

waifes el S @

3(g)

+
(1) (CH3)3C—-CH-CH3
+
(2) CH3 —CHo —~CH-CHo —CHg
+
(3) CH3z —-CH-CH» —-CH» —CH3

(4) CHz-CH> —éHz

BIEV & ford Gveie &1 FauFIS @aied @ ¢
(1) ez

(2) =R

(3) gt

(4) & TG94 A

3@ S & BODAF 2 :

(1) Sppm

(2) 5ppm¥ FH

(3) 5 ppm% SIRED

@) T & FE T8

NH, =1 ¥g%it IR

(1) NH,*

(2) NH,-

(3) NH,0H

4 NH.Cl

g ife aiftiear 3q « Rugs 19w 2
(1) mol lit" s™

2) s

(3) mol lits™

(4) mol/lit
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TOPIC : FULL SYLLABUS (MODEL)

PART-1(SECTION-A)
Attempt All 35 Questions

101. Which one of the following is correct match:
(1) Terminalized chiasmata — Pachytene
(2) Exchange of segments of — Zygotene
chromatids

(3) Synapsis of homologous - Diakinesis

chromosomes

(4) Appearance of chiasmata — Diplotene

102. What is the definition of turn over number :

(1) Number of mole of substrate are converted into
product per second by using cne mole of enzyme |

Number of mole of substrate are converted into

@

product per minute by using 10 mole of enzyme |

Mass of substrate are converted into product per

@)

hour by using one mole of enzyme I

@)

Mass cf substrate are converted into product per
second by using 10 mole of enzyme

103. Given below are two statements , one is labelled

as Assertion (A) and the other is labelled as Reason
(R).

Assertion (A):

In cockroach sexual dimorphism clearly seen

Reason (R):

In male cockroach anal style present that are
absent in female cockroach

In the light of the above statements, choose the
most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct but (R} is not the
correct explanation of (A)

(2) (A)is correct but (R) is not correct
(3) (A)is not correct but (R) is correct

(4) Both (A) and (R) are correct and (R) is the correct
explanation of (A)

RT-1 (WU8-A)

oY 359 AfFEE 2

101. =il 3 @ =l @ Fyar 98 2

(1) FITHCT FT FIRINT - DT

(2) FNET & AT H g
CECE |

(3) AW VA o GG — IR

@) e & e e —fRuee

Tt gear Y afearer ar 2 -

(1) TRaTER & Aol &t I § 99 9% qRafdg e
ATl |l U A TeTEd & g

(2) PR & Aer 9 S § iy fee aRafda B
Al &1 10 A TelIgH & BN

(3) ToraTaR & s T Seae ¥ gl gve oftafda B
Il T U Al Oeallgd & 2R

@) FFaUR % Z=FF F1 39E ¥ Uiy ¥9ve gRafig eF
T S 10 A Tollgd & 8N

Frefelaa @ @ue e e 2, v S (A) 3 &k

TET R (R) ¥ ddes B

R (A):

Fiwda ¥ A wrar e 73 I@q @ Piad 2)

FRT (R) :

R PiAT & &1 IF IuRyT wiar 21 St 7R awEr

Hrdd A FRya slar 21

IR FU B Aeld | 98 95T =, I R

e ¥ & I g

(1) 3 A 31t REH 2 3R R, A &l 98I IR -8t
el 2|

(2) AWEl 2 T REE 8 B

3) A g 7 & ot RuE

(4) 29 A 3R R¥E 2 3R R, A 1 981 a1 &t 2|

102.

103.
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104.

105.

106.

107.

Given below are two statements
Statement I:

Human heart consist of only epithelial, connective, and
muscular tissue

Statement Il :

In connective tissue fiber provide strength, elasticity and
flexibility

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement |l is correct
(4) Both Statement | and Statement Il are correct

How many matching are correct:

a. Amyloplast — Carbohydrate
b. Elaioplast — Xanthophyll
c. Aleuroplast — Protein

d. Chromoplast — Fat

e. Chloroplast — Chlorophyll
(1 3

@ 2

@ 4

@) 1

Which one of the following is the incorrect match
(1) Microbodies — Cycas

(2) Microbodies — Cockroach

(3) Centromere — Euglena

(4) None ofthese

Given below are two statements : one is labelled
as Assertion (A) and the other is labelled as Reason
(R).

Assertion (A):

When haem group is removed from peroxidase
enzyme then catalytic activity is lost

Reason (R):

Catalytic activity is lost when the co-factor is
removed from the enzyme

In the light of the above statements, choose the
most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct but (R) is not the
correct explanation of (A)

(A) is correct but (R) is not correct
(A) is not correct but (R) is correct

Both (A) and (R) are correct and (R) is the correct
explanation of (A)

2
3
4)

104.

105.

106.

107.

TR W wEE

%Y -1:

T T 99 e ITH, Gar I VT Seeh 1 I
BT 21

oy -l :

Aol FaE A aw AT, JAEIET ST A 9e
Fd B

9 v fawen A ¥ 98 I A

1) 3 FYF | 3R YT 117 B

(2) FHT 198 g F e B

(3) FUE | 7e B T FUA 1EE 2

4) 39 U | 3R Y 1198 2

Forarit srqevar 9t 2

a. QIR - @MEIEEC
b. FHAEIRT - S=fsa
c. '!?{a‘?'ﬂ'&' - 9N

d. FHA<RE - 4

e. FANIERE - ok
() 3

2 2

(3) 4

@ 1
Fre=fafaa A @ sl @ FEar Toa @
(1) FEoE - 9

(2) qETFE . EE]

(3) A forg ~

(4) FIs &l

Fr=feRaa @t 9o Ry e 2, v st (A) 3 alk
T80 FRVT (R)  dees @

AT (A):

9 TN 9E WY g @ 85T 81 a9

RATFIIRS GATEH F] FHIAAT G =) AT 2

FR (R) :

TIEH Sl I ehiaa S &) Wl 2 | O S8R

T=lgH 3 B¢ AT 21

IS FUAl B AS A GE) 95 W, I Ry 1w

faeat & &t I I

1) B A 3R REE § 3K R, A &1 98 AN 778l
T B

(2) AW 2 I6g RES 78l 2

(3) A I 1l € Ty RUE

(4) 3R A 3R REE ? 3K R, A 9 981 =] &<l 21
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108. What is the characters of the flower in which
pollination takes place by wind:

(1) Pollen grains are light and non sticky
(2) Well exposed stamens and feathery stigma

(3) These flowers often have a single ovule in each
ovary

4) All of these

109. In flowering plants which of the following devices
are encourage the inbreeding depression:
(1) Pollen grain released and stigma receptivity are
not synchronised
(2) Anther and stigma are placed at different positions
(3) Self- Incompatibility
(4) None of these
110. Assertion (A) : If vegetative cell of pollen grain
are damaged then pollen tube are not formed
Reason (R): Generative cell of pollen grain
produced two male gamete by meiotic cell
Division.
(1) Both (A) and (R) are true but (R) is not the correct
explanation of (A)
(2) (A)is true but (R) is false
(3) (A)is false but (R) is true
(4) Both (A) and (R) are true and (R) is the correct
explanation of (A)
111. Which one of the following feature are similar

among
Imbibition, Diffusion, Osmosis.
a. All are passive process
b. All are uphill process
c. All are required special membrane protein
(1) a,b,c (2) Onlya
(3) a,c 4) Onlyc
112. Which one of the following matching is correct

Pascal

(1) Water potential

(2) Solute potential Always positive

(3) Solute potential May be positive

(4) Pressure potential

Always positive

108. 4T & 3R WA B 9re g9 3 47 @vr Bl @
(1) TRt ge S Femfamee @9 2. 21
(2) FFET JHER AR Heq ATHA
(3) T T Y TT ISR A U SIelUS W 7
(4) I T

109. T§FT wrewW ¥ fr=ifalaa =9 6 gfear s e
I H i F 2

(1) AT S Jie afdemr weiar aenforen =)
B 2

(2) AT 3 Ay fafT fufeal ® safeaa s
2

(3) = -IEHI
(4) =g 78

Y (A): 3R WRIEHYT T FIAE SR afrs 8@
W 99 Yot &1 fAter 18 8lem

R (R): TRTHT S 4 HIRIHT FTGA e &
R <t X g3 T 0T &t B

(1) (A)3T (R) 24 @8 & AfT (R)wéY == =& 2
(A) T

(2) (A)EE 2 AfFT (R) T =
(3) (A)7r 2 A (R) @l 2
(4) (A) 3 (R)3F w8t & 3R (R)wér =arer & (A) &

1M1, F=fefeaa & @ =39 91 ga: mgor, e, yaaor
& daeE 2

a. ol Pty gaitar @
b. @il suRRe ywiar 2
c. o1 @l Rifre Rilcast AT 9 srazasar a1 2
(2) $IeT a
@) ac (4) #ad ¢
12. F=fafea ' | =9 @ agewr et 2

110.

(1) a,b, c

(1) ot fasma - diERd

(2) Tl T — B U

(3) T fonv — M B G 7
(4) @& fawg — B TR
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113. The sulphur is the constituents of :
a. Thymines
b. Some Amino acid
c. Lecithin
d. Several coenzyme
(1) a,b,cd
(2) Onlya,b,d
(3) Onlya,c,d
4) Onlyb, d

114. The water potential and osmotic potential of pure

water are :

(1) 100and 200
(2) zeroand 100
(3) 100and zero

4) zeroandzero

115. The maximum photosynthesis takes place in which

region of the spectrum
(1) Blue and Red
(2) Blue and Green
(3) Green and Red
4) Yellowand Green
116. The colour of chlorophyll b is
(1) Yellow green
(2) Yellow orange
(3) Bluegreen
(4) Violet green

117. How many matching are correct :

a. Glissons capsule — Pancreas

b. Gall bladder — Smallest digestive
gland

c. Glisson's capsule — Liver

d. Gastric gland — Intestine

e. Crypts oflieburkuhn — Intestine

(1) 4
@ 3
@) 1
@) 2

14, 9o fvE sk iR ve e e wr e 2 -

(1) 100 3K 200
(2) IR FAR100
(3) 100 IR I
(@) I R

115. Gaie TH 5N W & fFg aa A sar e

(1) el 3R =T
(2) ¥t 3R &Y
(3) T IR u
@) 9 AR B

116. FAldfher b T 21

(1) der &1
(2) i =R
(3) e &Q
(4) ST Y

17. Tharit eI 99 2

a. fag foga - A

b. e - a3 yE
. Terg—a duge a5

d. s a4y - |

(1]
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118.

119.

120.

121.

Match the column - | with column - Il and select
the correct option from the codes given below :

Column -l
(i) 2500 - 3000 mL of air

Inspiratory reserve (ii) 1000 mL of air

Column -1
A.
B.

Tidal volume

volume

Expiratory reserve (iii) 500 mL of air

volume

D. (iv) 4000 - 4600 mL of air

E. Vital capacity (v) 1100-1200 mL - of air
(1) A-(iii), B-(iv), C-(ii), D-(i), E-(v)

(2) A-iii), B-(i), C-(ii), D-(v), E~(iv)

(3) A-iii), B-(i), C-(iv), D-(v), E~(ii)

4) A-(v), B-(i), C-(ii), D-(iii}, E-(iv)

Match the Column ‘A’ with Column ‘B’ and select
the answer from the options given below: |

Column A Column B

A. Lymphatic System i. Carries oxygenated
blood |

Immune Response
To drain back the
tissue fluid to the
Blood circulatory
system

iv. Coagulation of blood

Residual volume

B. Pulmonary vein ii.
C. Thrombocytes iil.

D. Lymphocytes

(1)  A-ii, B, CHiii, D-iv
(2) A-iii, B-i, C-iv, D-ii
(3) A-iii, B-i, Ciii, D-iv
(4) A-ii, B-iv, C-iii, D-i
Which one of the following is incorrect match for
human :

(1) Spermatogonia
(2) Secretory Phase

23 chromosomes

Smallest phase of
menstrual cycle

24" day

(3) Owulation
4) All

What will happen if the secretion of parietal cells
of gastric glands is blocked with an inhibitor

(1)
)

Gastric juice will be deficient in pepsinogen

In the absence of HCI secretion, inactive
pepsinogen is not converted into the active enzyme
pepsin

Enterokinase will not be released from the duodenal
mucosa and so trypsinogen is not converted to
trypsin

Gastric juice will be deficient in chymosin

)

)

118.

119.

120.

121.

wWH- 1 M@ -l AT IR A WA F=dad

fawer g
WY -1 | -l
A Y IA™T (i) IR FT 2500 - 3000 mL
B. dd:yae g@@a (i) AR =T 1000 mL
FAETT
C. F:zaeq wida (iii) AT =T 500 mL
AR
D. Fai¥re T (iv) A1g =T 4000 - 4600 mL
E. W9 & (v) arg =T 1100 - 1200 mL

(1) A(iii), B-(iv), C~(il), D~(i), E-(v)
@) A-(iii), B-(i), C-(ii), D-(v), E~(iv)
(3) A-(iii), B-(i), C-(iv), D-(v), E-(ii)
(4) A-(v), B-(i), C-(ii), D-(iii), E-(iv)
WY ‘A &R B T8 A e W A wE Ree

HT AT W
W A W B
A <R 93 i I O g
B. FoRdE R i, el i
C. YreaRe iii. SRR yReawer o= &
SHdehid = I 9199 JAFT
D.fermlaEe iv. ®RR &I e

(1) Adii, B-i, C-iii, D-Iv
2) Adiii, B-i, C-iv, D-ii
3) Adiii, B-i, C-iii, D-Iv
@) A-ii, B-iv, Ciii, D-i

Frferfaa & 3 st 9 ieTar = & forg o 2

(1) AFTISTT - 237EA

(2) @ grae — e e ) EEE S
T

(3) oSt - 243fe

(4) =9

1 1T Al ot aFY Y dUged 99 & 9Ev i T

FATh d B D B g A

(1) e @ A IS A @ B

(2) HCIE Frafeafy 3 fftrg Wfeamom afma e ¥
aRafda =& &

(3) RS RIHIET & TCAhIgAST T GV 8] BRI T4
fefaman fReftam ¥ qRafde =& & v

(4) ARger @ ¥ FrEARA F A0 BN
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122.

123.

124,

125.

126.

Which is a correct statement

(a) Hypertension is caused by anaemia

(b) Cardiac output depends on stroke volume
(c) Blood capillary is single walled

(d) Man has hepatic portal system

(1) a&b

(2) Onlyb&c

(3) b,c&d

4) a,b&c
Match the following Columns :
Columnl Column Il
a. Adenine derivative i. Ethylene
Terpenes ii. Gibberellic acid
derivatives
c. Gaseous hormone iii. Kinetin
d. Carotenoide derivative iv. Abscisic acid
(1) a-i, b-ii, c-iii, d-iv
(2) a-i, b-iii, c-ii, d-iv
(3) a-ii, b-i, c~iii, d-iv
4) a-iii, b-ii, c-i, d-iv

The correct sequence of electron acceptor in ATP | 124,

synthesisis :
(1) Cyt,b,c,a,a
(2) Cyt,c,b,a, a,

(3) Cyt.a,a, b, c

(4) Cyt.b,c,c,a a,

The total number of 4-carbon containing
compound in krebs cycle :

(1 3

@ 4

@3) 5

@) 2

Select the total number of plants showing
monocarpellary gynoecium from the following .

Gram, Arhar, Moong, Sesbania, Lupin, Pea,
Soyabean, Tomato, Brinjal, Belladona, Petunia,
Tobacco, Tulip, Aloe, Colchichum, Asparagus,
Chilli, Groundnuts, Indigofera, Sunn hemp :

(1) 7
@) 10
(3 4
@) 6

122.

123.

125.

126.

FfridaNarsmm e e :

(a) STEREE, THRMAT & HROT ST B
(b) gefaM, 9arE AT W i wwr 2
(c) T ffiad g da 9t 7+ skt 2
(d) ¥ % RiRw Aida = slar 2

(1) a 3 b
2) ®99 b 3N c
(3) b, ¢ 3Rd
@) a, b3 c
FrfaRaa w1 = giifera fse:
-1 we-l
a. U O i. TR
b. i = ii. FoeRkfers v
c. A9 Ml iil. Eﬁlﬁﬁﬁ?l
d. AR F A~ iv. RS I
(1) a-i, b-ii, ¢-iii, d-iv
@) a-i, b-iii, c-ii, d-iv
(3) a-ii, b-i, c-iii, d-iv
(@) a-iii, b-ii, c-i, d-iv
ATP S¥aYu] ¥ ool ek & W41 & 3

(1) Cyt, b, c, a, a
@) Gyt c. b, a a,
(3) Cyt.a,a, b, c
(4) Cyt.b,c,,

4-HH W@ A ARt 9 el 9T oW 9% A B
(1 3

c.a,a,

(2) 4

3) 5

@) 2

1 3 et arew &1 9 A S AN TSR

Hﬁ% :

(1) 7

2 10
) 4
) 6
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127. How many are correct match according to
organism with their chromosome number:

a. Housefly - 20
b. Maize - 8
c. Dog - 38
d. Potato - 48
(1) Four (2) Three
(3) Two (4) One

128. In the given below diagram in human male
reproductive system, secretion of which structure

constitute the seminal plasma

(1) a.b,¢c @) ab,cd
(3) onlya, ¢ 4) a,b,d

129. Which one of the following is the incorrect
statements :

(1) RNAfunction as adapter, catalytic
(2) DNA function as catalytic

(3) RNA s the genetic material

(4) DNA is the genetic material

130. Which of the following symbol is wrongly matched:

a. — male

b. <>— sex unspecified
c. —O — consanguineous mating

d. @ — Five affected offspring

(1) b, c
@ c d
(3) b,cd
4) bd

127. FfaRaa § & froeit ageaar sl 91 39 vreA
H@T%ﬂﬂ'ﬂ]’('ﬂﬁﬁz
a. WA - 20
b. WEH - 8
c. el - 38
d. g - 48
(1) IR () @
(3) @ (4) =
128. T & Ry F TR 9 B 99 97 X 76 aEEEn
& R AT e 1 Aty gt @

(1) a,b, c (2) a,b,c,d
I (3) ®ad a, ¢ 4 a,b,d
129. Fe=ifafeae & A &9 a1 Fu a9 @

(1) RNA e, SERE 31 TF FE H 2
(2) DNASSIE H TRE T Heal 2
(3) RNAZaT® e 2
(4) DNA e v 2
130. Fe=iferiaa ¥ =9 a1 gl o R ¥ 2

a. -

b Q-mmm‘ma@r

e. [ ) -Roder 2 di ¥ (wwere i)
o @_mamnﬁam

(1) b, ¢

@ ¢ d

(3) bc,d
4) bd
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131. Assertion (A) : In birds female decides sex of
progeny.
Reason (R)
heterogametes
(1) Both (A)and (R) are true but (R) is not the correct
explanation of (A)

(2) (A)is true but (R) is false

(3) (A)is false but (R) is true

(4) Both (A) and (R) are true and (R) is the correct
explanation of (A)

In Birds female produce

132. Which one of the following matching is incorrect :

(1) Downsyndrome — 47 chromosome
(2) Turnersyndrome — 45chromosome
(3) Klinefelter syndrome — 47 chromosome

(4) None of these

133. Which one of the following scientist is not involved

in biochemical characterisation of transforming
principle :

(1) Oswald Avery

(2) Colinmacleod

(3) Maclyn Mccarty

(4) Jacob monod

134. Select the correct option for the given below

diagram :

131. oA (A) T e T o forr FufRa «a 2
FRT (R) : wefia ¥ arer s gee I Sl 2
(1) (A) 3 (R)2 &8t & e (R) =8 =ame -8t 8
(A) T
2) (A)FH 2 A (R) 7o 2
(3) (A)Trer & oifth (R) W& 2
(@) (A)3R (R) 3T 981 2 3R (R) & =amem 2 (A)
132. Fre=fefaa ¥ 3 9 9 aear Je 2

(1) St g —  477A
(2) e g ~  457F
(3) FemgAheck M~ 47TEA
(@) 39 ¥ FE
133. fr=ilefaa ¥ A =6l @1 A waaRa Rera @ oiT
At wer & a9 @
(1) IEares T
(2) Tl Afaaie
(3) FepferT erenret
(4) St AR

134, 23 M o & fog o fashew o1 999 &Y

(1) Arepresentative diagram of human genome project

(2) A representative diagram of hershey and chase
experiment

(3) A representative diagram of meselson and stahl
experiment

(4) Aschematic representation of a transcription unit.

(1) 79 S TRaET 1 FETE s

(2) =H-39 & T = e e

(3) HAE R TIeT ® TANT F1 FETw IRE
(4) SITRRE TR Sl SIRE W

NLI/32



135. There are many non human model organisms
which genome have also been sequenced :

a. Drosophila

b. Yeast

c. Caenorhabditis elegans
d. Arabidopsis

(1) a,b,c,d

(2) Onlyc, d

(3) Onlyb, c, d

4) Onlya,c,d

PART-1(SECTION-B)

135. 959 9R MG JRET oifg 21 R i @ s
P IR A RN I B g B

Sreifthen

b. diw

c. BEIEEIEH g4
Qellerie

(1) a,b,c,d

(2) @@ c, d

(3) Fadb, ¢, d

@) #ae a, ¢, d

oIT-1 (|2-B)

a.

d.

This section will have 15 questions. Candidate can
choose to attempt any 10 question out of these 15
question. In case if candiate attempts more than
10 question, first 10 attempted question will be |
considered for marking.

136. Which one of the following statements is correct

() !

Cardiac muscle tissue is a contractile tissue present
only in the heart

2

Cardiac muscle tissue is a contractile tissue present |
in the brain and heart

3)

Cardiac muscle tissue is a contractile tissue present
stomach and heart

4)

137. Which one of the following is developed by
mutation breeding :

Cardiac muscle are voluntary

(1) Mungbean

(2) Parbhanikranti
(3) Hybrid maize
(4) Atlas 66

138. The correct order of tanks used in treatment of
sewage in a sewage treatment plant is

(1) primary settling tank — aeraticn tank — anaerobic
sludge digesters — secondary settling tank

(2) primary settling tank — anaerobic sludge digesters
— aeration tank — secondary settling tank

(3) primary settling tank — aeration tank — secondary
settling tank — anaerobic sludge digesters

(4) primary settling tank — anaerobic sludge digesters
— aeration tank — secondary settling tank —
filtration tank

T @S ¥ 1593 21 T g9 15954 ¥ § &S off
1095 T ghall 31 A2 Qe 109 At 3= &1
I 2T ® d v FRd ¢ v 10 9 € Ay 2
Frefafea ¥ @ Sl @1 A T 2

(1) T35 A 9% 0% SR o9 2 S had g2l
¥ U o 2
(2) 729 I SOF TP G-I Fah € o ARash
IR 7= ¥ 1 W}
(3) =29 Y FOF U A HaE B W AT
3R geg ¥ @ W 2
(4) g=a 390 oRew B @
137. ﬁwﬁgﬁﬁaﬁ%ﬂﬂwaﬂﬁﬂﬁw%mm
gl e :
(1) 3
(2) TR FiT
(3) HFHT HFFT
(4) vced 66
TiRTId IR e A aiftadd & I99R F I9ET
B a1 9E B . 7

(1) I Aot S — A SF — FAEGT TR
wui — fadige efer 2

(2) wrefie Jeferm 3 - sEEd v waRE
argd & - fadiasw defe &&

(3) I FefoT ¢ — g9 ¢  fediigs Jefeia
T — FIEE ATF quiE

@) IIReR Al ¥ > FEEEE FHE G -
TREE ¢ > fediias wefer w o fRegem 3%

136.

138.
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139.

140.

141.

142.

143.

Which of the following is the correct increasing
order of immunoglobulin percentage in human
blood :

(1) IgD <IgE < IgM < IgA < IgG

(2) IgE <IgD < IgM <IgA < 1gG

(3) lgG <IgA<IgM < IgD < IgE

4) IgE <IgD < IgA <IgM < IgG
How many of the following are congenital disease
a. Haemophilia

b. Typhoid

c. AIDS

d. Pneumonia

e. Malaria

(1) 2

2 3

@3) 4

) 1

Reasons of infertility are

(1) physical or congenital diseases
(2) drugs, immunoclogical

(3) psychological

(4) all of these

Which one of the following events are related with
human female
a. menarche b. menopause
c. menstruation d. gestation

(1) onlya, b, c

(2) onlya, c, d

(3) a,b,c,d

4) onlyb,c, d

The method in which foreign DNA is directly
injected in the nucleus of an animal cell

(1) Micro-injection

(2) Genegun

(3) Transformation

(4) None of these

139, T ¥ A I &1 9T & O A ERalfor o 98t

Hedl &d 2

(1) gD <IgE <IgM < IgA < IgG
(2) IgE <IgD <IgM <IgA < IgG
(3) lgG<IgA<IgM<IgD <IgE
(4) IgE<IgD <IgA < IgM < IgG

140. fAfaRad ¥ @ frad =T AT 2 -

a. oo
b. TIXWIgS
c. =¥

d. =gifar

(1) MARF 3roar ST A
(2) 3ifer, gRETE

(3) RS

(@) =i

142. Fe=feRaa & @ S 6 e AR I @ e 2

a. e

c. =

(1) #¥aea, b, ¢
(2) a4 a, c, d
(3) a,b,c,d
@) Faeb, ¢, d

b. wiifgka
d. TRR

143. Tora Rfr ¥ A DNA T s iRl & P &

F< 9t} IR W g~ienes Forar o 21
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144. Which is the correct statement about bio-reactors
(1) Theseare vessels in which biological products are

chemically converted inte specific products

(2) These are vessels in which chemical products are

converted biologically into raw materials

These are vessels in which raw materials are

3

biologically converted into specific raw materials
{4) These are vessels in which biologically formation
of specific products from raw materials

145. Production of a human protein in bacteria by

genetic engineering is possible because :
(1)

The human chromosome can replicate in bacterial
cell

2

The mechanism of gene regulation is identical in
humans and bacteria

)

Bacterial cell can carry out the RNA splicing
reactions

(4) The genetic code is nearly universal |
146. A tumor in the adrenal zona glomerulosa can
cause hyper secretion of hormones produced in |
that region. Which of the following you might
expect to find in a patient with such a tumor : |
(1) Increased blood sodium levels
(2) Increased blood glucose levels
(3) Decreased blood calcium levels

(4) Increased dehydration

147. Which one of the following is correct match :
a. Reissners i. Cochlea
membrane
b. Blind spot ii. External ear
c. Tympanic iii. Cornea
membrane
d. Sclera iv. Photoreceptor cells
absent
(1) a-i, b-iv, c-ii, d-iii (2) a-iv, b-ii, c-i, d-iii
(3) a-ii, b-i, c-iii, d-iv (4) a-i, b-iii, c-iv, d-ii
148. Which of the following are correct statements for

linkage

() The tendency of genes inherited together is
known as linkage

() Linkage help to hold the parental character
together

(lll) Linkage is inversely proportional to crossing
over

(IV) Linkage is broken down due to phenomena
of crossing over occuring during meiosis

(1) landllonly (@) 1, 1land Il only

(3) LI NMandIV (4) land IV only

144, AT * R F ST s ag 2

() A 9 97 =9 2 s e 3o ke w9
fafire IamEl ¥ uRafdq 89 &

(2) 3 9 9 E o qEEe 39 Siw 7 ¥ Fe
el ¥ gRafdT 2 ?

(3) & 3 9= 2 e et Ter St w9 ¥ fafRe s
el ¥ qitafia B @

@) AT 9 ® R v e @ ofw w1 ¥ i
werd ¥ gitad sar 8

Fane APEbEE F 8RT Siany F aFE NET B

IIET 99 7 i

(1) ¥ U SE] S ¥ gREeT #X g
7l

(2) < fFawA i franfafer A9 iR Sian] & v & 9
T 2

(3) STaT] 3R RNA SR i gl 3

(4) AR FHT TN AEHE BT B

CEH ST TR F TR % SRYT 98 & Iaifed

BT Y it A 99 @ 21 39 PR B SR

AN A e A ¥ o1 Reard A

145.

146.

3) ®PR ¥ Rfcwaw T F1 B
(4) 3 Aot
147, Frfafaa ¥ @ =9 & s e 2
a. UM el i. ifemEr
b. ufs~g ii. aEg®l
c. FHYe Rl iii. =pi=ar
d. zdqyes iv. YRrEme iREY

(1) a-i, b-iv, cHii, d-iii (2) a-iv, b-ii, c-i, d-iii

(3) a-ii, b-i, c-iii, d-iv - (4) a-i, briii, c-iv, d-ii

Ffeliaa % | 19 91 e Seawar & v e 2

) -éﬁq%m-qunﬁ' ) gl FeerR-Tal el

I

() FEeTaT Reee I Hl TF T @R A GsEET
F =)

(IN) FE=TaT T oI o SRl siedl 21

(IV) RIS & FROT g8eR-d1 ¢ oIl 8 98 g
favieT & Rer glar 21

(1) |3R llPas 2) I, 13RI T

@) LI, 3R IV (@) | 3RV g

148.
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149. Which of the following are correct statements

between Triceratops and stegosaurus :
(a) Both are extinct animal

(b) Both are reptiles

(c) Both are atype of dinosaurs

(d) Triceratops is an extinct bird

(1) a,b,d (2) a,b,c

(3) Onlya, b (4) Onlyb, ¢

150. Which is the correct match :

A| Phenylketonuria||. Autosome (i) Elongated
linked recessive Shape of
trait RBC

B| Sickle cell Il. Autosomal (ii)Mental

anaemia recessive retardation
trait

C| Haemophilia  |lll.Sex linked (iii) Non -stop
recessive bleeding
disease

(1 A @ C
(3) B (4) Allof these

PART-2 (SECTION-A)

Attempt All 35 Questions

151.

Given below are four statements pertaining to
separation of DNA fragments using gel
electrophoresis. Identify the incorrect statements.

i. DNA s positively charged molecule and so it
is loaded on gel towards the anode terminal.

ii. DNA fragments travel along the surface of the
gel whose concentration does not affect
movement of DNA

ili. Smaller the size of DNA fragment larger is the

distance it travels through it.

Pure DNA can be visualized directly by
exposing UV radiation.

Choose correct answer from the options given

below :
(1) i, iiiand iv
(2) i, ii and iii
(3) ii, iii and iv
4) i iiandiv

149, grgeieie ik R & fia Feafafaa ¥ sl
HY GE ®
(a) ST g o @
(b) 314t Wl 2
(c) 2 T YR & IAFNER T
(d) TrEeivg v R el @
(1) a,b,d (2 a b, c
(3) @ad a, b @) FFA b, ¢
150. FF ¥ 4 et Ram 2 ¢
A | frEa=icHaran | AT s | (i) RBC
TR fofBer| T 3TERR
B | féferar &= et II. sHfefr = | (i) Fedfe
AT
[EELED
C | Ermrdiferm . e (i) Feer =
FTHE EEL
LZLin]
(1) A ) C
(3) B @) ST
HET-2 (|Us-A)
i 3575 AfEd 2

151.

AR R B 9R FE 9 IAagERRE ST I
#h DNAEYS &l -3 Hed @ afea 2
3G HYAl B I=EM ¢

i. DNAgFTI JRRE Jv) gar 2 3k 47 wie
FRR 9 WE S W WO S 2

ii. DNATEHS oie 1 €8 & €Y &) I i 2 3k
S St gFedr DNASE 969 W F1E 14919 -8
et 31

iii. DNAS 312 ¢ 599 81 &l U&l 99 9 3

iv. I[€ DNAYEE ¥ ¥ WaHl v&1W ¥ FAgw
D @[ oI Il 3

23 1 fament o ¥ @ Ioax = wET W
(1) i, iii 3 iv
) i, i i
(3) i, iii 3 iv
@) i, i A iv
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152. Which one of the following are the correct match:
(a) Scrubber

(b) Electrostatic
precipitator

(c) BOD

(i) Water/lime spray
(ii} Discharge corona

(iii) Biodegradable
organic matter

(d) Algal bloom

(1) (aH, (b}, (¢)-iii, (d)- iv
(2) (a)-iv, (b)-i, (c)-ii, (d)-iii
(3) (a)iv, (b}, (c)-iii, (d)-ii
@) (a)-iii, (b)H, (c)}iv, (d)-Ii
After reading carefully, find out the correct
statements(s):

(iv) Fish mortality

153.

(a) According to CBCP central Board of Control
for Pollution, particulate size 2.5 micrometers
or less in diameter (PM 2.5) are responsible
for causing the No harm to human health

(b) Take off of a jet plane produces 150 DU noise
that may damage our eardrums

(c) In 1999 Delhi ranked seven among the 41 most
polluted cities of the world

(d) In catalytic converters unburnt hydrocarbons
are converted into CO, and H,0

(1) a,bandd
(2) b,candd
(3) aandd
) d

154. In the nomenclature of restriction endonuclease

enzyme the first letter and the successive two
letters denote

(1) Strain, Genus
(2) Genus, strain
(3) Genus, species

(4) Strain, species
155. Which two animal are show convergent evolution:

(1) Lemur and spotted cuscus
(2) Lemurand Bobcat

(3) Koalaand wombat

(4) Sugar glider and koala

152. Frafelfaa ¥ @ =l 4 sy w8 2

(a) Wi (i) I /<arET BER
(b) R @ F=eif (i) Trgol SR
(c) BOD (jif) S Frefreeofi
FEMS e
(d) Rarel TERSH (iv) wsfert’ 1 wEm

(1) (@i, (b)-ii, {c)- iii, (d)-iv
(2) (a)-iv. (b)-i, (c)-ii, (d)-iii
(3} (@)iv, (b}, (c)-iii, (d)-ii
(4) (a)-iii, (b)-i, (c)-iv, (d)-ii

153. AU Yd Yg & T g ol 9T
(a) (CBCP) 3= 9w fAg=or 4l & aER 2.5

HUH AR FIG1 294 9 (PM 2.5) 9H9 @eg
F JHIE TEIH & fog Rsler =8 2

(b) A 9 I 150 DU IR I~ Al 2 Sl IR
FE D T2 hl GRS R HAT 2

(c) 1999 ¥ Rl FT YR & W= TR TR 41 w5
¥ wraar ®&IF o

(d) I TRadw & RET oI STEgEET SRR
HTFAIEE UT ot 3 qof W B

(1) a b3ikd

2) b, cHRd

3) a3iNd

4) d

154, Ifa=E QUelgaeidst & AR I Jo¥ W2 3R 9%
F AR 3 ¥ 29l 2

(1) A, o
(2) d, &%
(3) =, it
(4) w, it
155. F9 ¥ 2 9= N Rem =t i 2.
(1) PR 3R UK Fehd
(2) W 3R dEEe
(3) I3 FR ST
(4) T TEIEE R A
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156.

157.

158.

159.

DNA finger printing includes :
i. Isolation of DNA
ii. Digestion of DNA by restriction endonucleases

iii. Separation of DNA by

electrophoresis

fragments

iv. Technique initially developed by Alec Jeffery
(1)
@
(3) Onlyiiiand iv

4) i, ii, iii and iv

A template strand is given as below :
3'-ATGCATGCATGCAT-5'

then what is the sequence of RNA transcribed from
above DNA

(1) 5-TACGTACGTACGTA-3

(2) 3—UUCGUACGUACGUA-5
(3) 5-UACGUACGUACGUA-3'
4) 3-UACGUACGUACGUA-5'

Only i and ii
Only ii and iii

Which of the following statement is/are incorrect : |

i. Homo erectus fossils discovered in Java

ii. The Neanderthal man probably lived in East |

and central Asia
ifi. Darwin judged the fitness of an individual by
ability of defend itself

iv. Industrial melanism are related with Biston

betularia
(1) iandii only (2) iii and iv only
(3) iii only @) i, ii, iii and iv

Given below are two statements :

Statement [:

Plant breeding is the purposeful manipulations of
plant species in order to create desired plant types
that are better suited for cultivation, give better
yields and are disease resistant.

Statement Il :

Genetic variability is the root of any breeding
programmes.

In the light of the above statements, choose the
most appropriate answer from the options given
below :

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct

(4) Both Statement | and Statement |l are correct.

156.

157.

158.

159.

S sagfersTdt A B 2
i. TR FH FANT

i. ReaET TR & 81 ¢TSI =

iii. SATCIHRIYT B BN LAY BRI I FANT

iv. F% Tk € A Teleh Wl BRT AR o T

(1) Sae i AT

(2) =ad i 3 i

(3) ae iii 3k iv

@) i, ii, ii A iv

U Sl ®ue A fear war @
3_ATGCATGCATGCAT-5'

T 3 T Sy ¥ e @ 9% ARGAY. F

FIR 4T B

(1) 5-TACGTACGTACGTA-3'

(2) 3- UUCGUACGUACGUA-5'

(3) 5—UACGUACGUACGUA-3'

(4) 3-UACGUACGUACGUA-S'

FrfaRaa ¥ 3 <19 91 F9 39

i. BHiigacd T SIars SEr ¥ e [

i. ¥% AR I<a A F wEd: P T
w3

iii. S & JIgER fedt =afeT 2t 399 = =99 i
&R fheeg o

iv. geReaa Rrfawr faeest fagiftar @ wwafu 2

(1) i3 ii A= @) iii 3R v

(3) iii A @) i, ii, iii 3 iv

NRAFF R :

Sy I:

qIeY oI 9IRY Jonfodll &1 g IER9EqeT IRareH 8,

A aifeT TeT el JaR 8 99 95 e |adl & fog

3iftren SHall, o1 SR e arell ¢d e gfadEl

Bt 21

YA

FgaRrh IRad-Eierr R ST IS R T TR

21

IRFT FYF B g A A Ry 1 et § ¥ waify

F IYGFd I T TG DY

(1) FGT | SR FY 1 A T 2

(2) F¥ 1981 & AfdT FuF 11T 2

(3) FUT |7 B e e 1 7

(4) ¥ | 3R 9 1) 39 &5 2
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160.

161.

162.

163.

164.

Statement -I- Gene therapy is the insertion of gene
into an individuals cells and tissues to treat
disease especially hereditary diseased.
Statement-II-GM plants have been useful in de-
creasing crop yields increase post - harvest losses
and make crops more tolerant of stresses.

(1) Both Statement | and Statement |l are incorrect
(2) Statement | is correct but Statement Il is incorrect

(3) Statement | is incorrect but Statement Il is correct

(4) Both Statement | and Statement Il are correct
Which one of the following matching is incorrect

(1) Early diagnosis possible ELISA

(2) Conventional methods Urine Analysis
of diagnosis

(3) Early diagnosis possible

Serum analysis

(4) ELISA Antigen - antibody

Interaction

Warblers "resource partitioning" was explaind by
(1) Gause

(2) Connell

(3) MacArthur

4) Timan

A few organism can tolerate and thrive in a wide

range of temperatures they are called

(1) stenothermal (2) eurythermal

(3) mesothermal (4) none of these

Given below are two statements : one is labelled
as Assertion (A) and the other is labelled as Reason
(R).

Assertion (A):

All birds are homeothermous

Reason (R):

Ostrich are flightless birds

In the light of the above statements, choose the
most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct but (R) is not the
correct explanation of (A)

(A) is correct but (R) is not correct

(A) is not correct but (R) is correct

Both (A) and (R) are correct and (R) is the correct
explanation of (A)

2
©)
)

160.

161.

162.

163.

164.

HY -1- SiiF Teifohedr eRT @RdR ¥ JAakEes 4 &l @
o fog =l ARy 9 FifteE 7 st 3§ o
HI J39 H 2|

FHY-1l- GM uttl T ST Fdel S TR, 99
Had IS THEM ¥ Felcadl 9 Fadl o gfoew &
gfa aftre eiier TR A S Syal 21

(1) &= 13 Fo 1 S e B

(2) o 19 2 wfeh 9 || 38 2

(3) FU |30 ® AfFT T 1T B

(4) =9 | 31K o || O ueg &

Trafaiaa o /@ =19 9@ FqETar T@a 21
(1) A # IRF™E TEIE - ELISA
T B
(2) IR A TR~ T fawemer
Tafor
(3) AN Y IR TEEE - e [
T 7
(4) ELISA — Yoo - gfaeEh
qRERe T
Tt & S T e o R wege Rean o

(1) =

(2) =i

(3) #eF IR

(4) feems

U §F WlT A d AMEH WA FH G6 HL Gahd

% 3k 99 9gd 21 A T =

(1) RArE (2) R

(3) Hroferi (4) I

FrafaRaa 2 @ Ry e €, v st (A) 3 3l

T FHRVT (R) ¥ Aeee 7

FAFY (A):

&+ vl sifiaterte sia 2

FR (R):

FIOF I arelt o2 T 2

I FUAl D AF § g8 99 W, - Ry @

fameal ¥ 98 IR T

(1) 2 A 3 R¥& 2 3t R, A & 98 @ =8
T B

(2) A¥H 2 9tg RE 78 2

(3) A4Sl T8l & 9o R4E 2

(4) 2T A 3T R9& 2 3K R, A 91 9€I =T AT 2
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165.

166.

167.

168.

169.

170.

Those plants where no correlation exists between
exposure to light duration and induction of
flowering response are called:

(1) Longday plants

(2) Short day plants

(3) Day-neutral plants
(4) Short-long day plant

Which one of the following are not included in
formed elements

(1) RBC

(2) WBC

(3) Thrombocytes
(4) Serum

What is fascicles

(1) Connective tissue layer

(2) Epithelial tissue layer

(3) Musclebundles

{4) Group of myofibril

Given below are two statements
Statement I: |

An adult human excretes on an Average 1 to 1.5 litres
of Urine per day.

Statement Il :

An adult human excretes on an average 250-300 gm of
urea per day. |

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct
(4) Both Statement | and Statement Il are correct

In sea urchin DNA, which is double stranded, 17%
of the bases were shown to be cytosine. The
percentages of the other three bases expected to
be present in this DNA are :

(1) G17%,A33%, T33%

(2) G8.5%, A50%, T 245 %
(3) G34%, A245%, T245%
@) G17%, A16.5%, T32.5%

The technique called Gamete Intra Fallopian
Transfer (GIFT) is recommended for those females:

™
@)
3)

Who can not produce an ovum
Who can not retain the foetus inside uterus

Whose cervical canal is too narrow to allow passage
for the sperms
@)

Who can not provide suitable environment for
fertilization

165. 9 &Y 1S9 Yehrar i St & Yoo g9 oI i
Fe A I g9 TE BT 2, I FEd B ¢
(1) 3 JErRrel ey
(2) 3T yEraeell 96y
(3) TTHI YA e
(4) 31T - geraeEl 9wy
Frefafag ¥ @ S5 ¥afsa verd ¥ afafm =8 21
(1) RBC
(2) WBC
(3) greETEe
(4) 9
hiwe 4r 21
(1) ARl FaF T
(2) IUFAT e TR
(3) 9T =
(4) AR T TE
THRemwFF e :
YT -1
T IR A e SEa 19 1.5 7 It
T B
&y -l :
U FaEF A e 250-300 AR JRAT T Ieaw
FAT 7
M Ry s’ ¥ 3 98 gk
(1) 3 13X HU 1T 2
(2) T |98 I HYA | T #
(3) FUT | T B Yo U I1EE R
(4) T T | 3T T 1 R
& T A DNA, ot fF saa €= 21 17%azad=
&R YR o 2 39 DNAY Suftaa TR JiFt &R 1
gl ¥ Ee: B :
1) G17 %,A33 %, T33%
2) G8.5%,A50%, T245%
3) G34%, A245%,T24.5%
@) G17 %, A16.5%, T 32.5%

i 8 g Shallig SIFRT wed 21

3 wizars & e RemifRar farar wimar 2:

(1) S 39 o AT 7180 e a7

(2) S e ¥ " T TY 6 W I

(3) Fraatt e fiar =T aga @9 IR S T B
o el ¥ 2

(@) 9t Fdes & fow Ioged amarEReT 8 9eM o U
2

166.

167.

168.

169.

(
(
(

170.
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171. Oogamous type of sexual reproduction are occurs
in
(1) Chlorophyceae
(2) Phaeophyceae
(3) Rhodophyceae
(4) All of these

The best stage to view structure, size and to
count the number of chromosomes is

(1) Metaphase
(2) Lateprophase
(3) Telophase

172,

4) Interphase
173. Which of the following is a bacterial disease :
(1) White rust of crucifer
(2) Early blight of potato
(3) Citrus canker

(4) Black rust of wheat

174. Photochemical phase does not include

(1) light absorption

(2) Water splitting and O, release
(3) ATP and NADPH formation
(4) CO, fixation

175. Sporophyte do not have an independent free living

existence in

Pteris, Funaria, Riccia, Marchantia, Pinus, Cycas,
Polytrichum, Cedrus, Sequoia

(13

@ 1

@) 4

@ 5

176. In addition along with the transpiration stream the

nodules of some plants export the fixed nitrogen
as Ureides. These compound, also have a
particularly :

(1) High sulphur to carbon ratio
(2) High carbon to nitrogen ratio
(3) High nitrogen to carbon ratio

(4) High nitrogen to sulphur ratio

171. TRt 9o6R &1 AR s forad aran i 2@
(1)
(2) wRAIEET
(3) ASrFTEEN
@) I Tt

172. Trg e 3 VA 9 9EET, AER AR gEI w7

i

@) % = =F T

| 174. srepvar wravafres =or 3 ke 8 srar 2

(1) wepTer e
(2) T T TCAT 3R JHISH T Jeatord BT
(3) ATP 3k NADPH =1 S+l
(4) CO, =T feudenaT
175. VSRS T TUia: o Shia- T8l IR ST 2:
reitcTEr, gy, Ran

(M3

176. T e ) Ay arsdicasi- 9418 S €0 & 9
oo g @l gRew & w1 A o1 3@ 21 77 At
¥ gar?

(1) I=F IEF T AT FET S o
(2) 3T A T AT ATECIAT Fl e
(3) 3= SN I IR FEF I e

(4) IoT FAGCIS AT AT GoRT T e
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177. Given below are two statements
Statement I:

Cell division is a very important process in only
multicellular organism.

Statement Il :
The cell cycle is divided into two basic phases.

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct
(4) Both Statement | and Statement |l are correct

178.

Which is a wrong statement :

(a) Endocrine glands have well developed ducts
(b) Gobhlet cells are exocrine gland

(c) Digestive enzymes are the endocrine secretion

(d) Cuboidal or columnar epithelium act as gland

(1) a&b |
2 b&ec
(3) a&ec
4) c&d
179. Which one of the following is incorrect match
(1) Ribs - 24
(2) Sternum -1
(3) Patella - Forelimb bone
(4) Appendicular skeleton- Limbs
180. What is the pyrenoids
(1) Pigment containing body for photosynthesis
(2) Food storage bodies
(3) Pigment containing bodies for respiration
(4) Gamete producing structure in phaeophyceae
181. A chemosensitive area situated adjacent to the

rhythm center, is highly sensitive to
(1) Co,

@ H

@3) O,

{4) Both1and2

177. 4 BT I &t F 2
YA -1
FIfdrerT favrem Sad agFiffdg ial § 8 a5
FETEYUT Yohrar B B
Y -l
IR I I 2 FENIT e ¥ qler
4R Ry fawedl ¥ ¥ o0 IR T
(1) 2 2 13T U 1T 2
(2) FUF 198 g FUF 17T 2
(3) T |7 ® T T I 2
(4) 3 F2E 1R T 1T R

fadtalar s aaa?

(a) Fa:ardt af~emt o srcaftre fasfa wformr) e
2

(b) Feer SRR sfzard afr 2

(c) IIr9eh T=TSH J=a:ATdl 99T @

(d) SFTHR 9 TRIHR 39T, 7Y F @@ T &

178.

g
(1) a 3Rb
2) b#KRc
(3) a 3c
@) ¢ FRd
179. Fr=fafaa ¥ | <19 9 sy wea @
(1) vafern - 24
(2) Sy - 1
(3) wewm - e Sited
(@) I Fer - 91
180. qrgdize =1 2

(1) JehTHr Gy & forg avien W arerr fivs

(2) IS 99 W 9T fove

(3) ¥aE & forg avier e A five

(4) FIEAEEE § R IoI R Al 9o

U WA gad 8 W R o e @ gehew 9 ¥ B
3, At w34t gar 3

(1) CO,

(2) H*

3) O,

(@) 3 1 3R 2

181.
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182. Choose correct statements :
First chlorophilous thallophyte is algae
First embryo less thallophyte is bryophyte

First plant have embryo & No vascular tissue
is pteridophyte

d. Seed habit occurs in Sefaginella
e. Firsttime seed in gymnosperm
(1) a,b

(2) a,dande

(3) a,b,d, e

(4) All of these

183. Given below are two statements, one is labelled
as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A):

All roots are not positively geotropic. |

Reason (R):

In rhizophora many roots come out of the ground |

and grow vertically upwards.

In the light of the above statements, choose the

most appropriate answer from the options given

below :

(1) Both (A) and (R) are correct but (R) is not the
correct explanation of (A)

(2) (A)is correct but (R) is not correct
(3) (A)is not correct but (R) is correct
(4) Both (A)and (R) are correct and (R) is the correct
explanation of (A)
184. A short stage between Meiosis | and Meiosis ll is
called :
(1) Interphase
(2) Interkinesis
3
(4) Synthetic phase

Generation Time

185. The first stable product of Calvin cycle and Hatch
and Slack cycle are:
(1) 4-Cand 3-C compound
(2) 4-Cand 6-C compound
(3) 3-Cand 4-C compound
(4) 5-Cand 4-C compound

182. 99 FY &l 99 :
T FRifthed deivge d99 2
b. TR YT f38 AeiwEe IMEwEse @

c. W YRR 7Yl o FHad e ae 2RewEe
2

d. i givy Refmar ¥ i w2
e. W divRyad WY FAIgaEel @
(1) ab
(2) a ddiRe
(3) a,b,d, e
@ o0
183. Fr=fafaa < waa v e F, v afdeam (A) & 3R
TEY BRT (R) ¥ Aaes 3
AR (A):
o o8 isiidiaeh g € 2 21
TR (R):
TR & S5t @ 9T oy ¥ R ag a9 A
e 21
ST Yl o dlelh A 98 98 &Y, I Re g
foreat & w6 SR
(1) 39 A 3R R&& 8 3K R, A 7 921 ARGH 8l
T B
) A¥E 2 Ieg REE 8 7
(3) A Wl T8l & T REE 2
(4) 2Rt A 3 REE 2 31 R, A 3 98t AReAT el 21

184. iRy 13 srfas fveF & §i9 9 918
Faedr A Fea

(1) FATqTEn
(2) STATEET
(3) I W
4) TR ymer
185. ahfearT 9w 3R 29 IR ®e T &1 T3 “El IuE
EiL |
(1) 4-C 3t 3-CHifirew
(2) 4-C3ie-Cafin
(3) 3-C #4-Calfiren
(4) 5-C#HR4-Crifirp
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PART-2 (SECTION-B)

This section will have 15 questions. Candidate can
choose to attempt any 10 question out of these 15
question. In case if candiate attempts more than
10 guestion, first 10 attempted question will be
considered for marking.

186.

187.

188.

189,

190.

In six kingdom classifications which kingdom is
divided into two domains :

(1) Protista

(2) Monera

(3) Fungi

(4) Plantae

In ecosystem at which trophic level human are
placed :

a. may be second trophic level

may be third trophic level

c. may be first trophic level

may be fourth trophic level

a,bcd

a, b, d

only a, b

4) onlyb

In an area, as the succession proceeds what
changes occurs in that areas :

(1) Number and type of plant

(2) Number and type of animal

(3) Decomposers

4) All of these

How many matching are correct for green house

gases:
(a) CFCs - 30%
(b) NO - 16%
(c) CH, - 2%
(d) CO, - 60%
(1) Four (2) Three
(3) Two 4) One

Assertion (A) : In Ecosystem Net primary productivity
is less than gross primary productivity

Reasons (R) : Gross primary productivity minus
photosynthesis losses is the net primary
productivity

(1) Both (A) and (R) are true but (R) is not the correct
explanation of (A)

(A) is true but (R) is false

(A) is false but (R) is true

Both (A) and (R) are true and (R) is the correct

explanation of (A)

@
3)
)

YAT-2 (|vs-B)

T Gve § 1595 21 qdemd 57 1570 4 ¥ S o
1095 X Ghell 2| AT glemdt 103 Al 957 =1
IR 21 2 9 = R 5T 72 1095 € g =)

186.

187.

188.

189.

190.

@: W Ty 9l ¥ w9 A fpsn wl A A
STcT 471 91 .

(1) dfewer

(2) A

(3) HTE

(4) w=mer

iRa ¥ e JINYT T R A @l o Il @
a. ﬁiﬁq‘ﬁqu

b. FH ST TR

c. Y9 QN &R

d. agd qiyer TR

(1) a,b,c,d

) a b, d

3) Fad a, b

4) Faw b

ot &9 3 S rpeRaToT 9 JESTa B 2 o 99 &
¥ aeaE ST ©

(1) diel &t 9@ #i gHR

(2) T3 FI AT IR TFR

(3) 3T

(4) I o

foratt srgear A9 erey A4 & fog wdt 2:

(a) CFCs - 0%

(b) N,O - 16%

(c) CH, - 2%

(d) co, - 60%

(1) IR 2) d=

(3) = (4) TR

FY (A) :IRa—= A S I Il 95d RS

IUEREHA A F9 el 8

SRYT (R) : ¥ehel ITHRIR SUeshdr & TahI9 G390 &
< 52 Al ) 921 39 2 9@ =% Ae i Souewar
T Bt B

(1) (A) 3R (R)F &€ & AfFT (R)FEr =y =) &
(A) =1

2) (A)gs 2 Afdd (R) a2

3) (A) e & AR (R)9et 2

@) (A) R (R) S 981 2 3 (R)FEF = & (A) &7

NLI/44



191.

192.

193.

194.

195.

In all of the major biomes which among these has
maximum mean annual temperature

(1) Desert

(2) Grassland

(3) Coniferous forest

{4) Temperate forest

How many hiosphere reserves are present in India
(1) 90

(2) 25

(3) 14
4 10
Assertion (A) : In tropical habitat greater biological

diversity occurs than temperate regions

Reasons (R) : In tropical habitat more solar energy
available and tropical environment are less |
seasonal, relatively more constant and predictable
as compared to temperate regions.

(1) Both (A) and (R) are true but (R) is not the correct |
explanation of (A)

(2) (A)is true but (R) is false I
(3) (A)is false but (R) is true

(4) Both (A) and (R) are true and (R) is the correct
explanation of (A)

Choose the incorrect statement :
(1)
2

Genetic diversity occurs within a species
Species diversity refers to the variety of species
within a region

Ecological diversity refers to the variety of
ecosystems

3)

(4) None of these
Given below are two statements
Statement I:

Spring wood and Autumn wood are a type of secondary
xylem.

Statement Il :
Lenticels Helpful in gaseous exchange.

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect

(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct
(

4) Both Statement | and Statement Il are correct

191. faza 9 W@ EW ¥ 3 Rraw g4l sitaa affs

A9 TIT T 8
(1) wEeg

(2) 99 & AH
(3) FFIHE
(4) INE T

192. foran Siiaved aRiEfar swRa A sy 2:

193.

194.

195.

(1) 90

2) 25

@3) 14

@ 10

FYT (A) 130T Fiea= T 3 Wi &3 ¥ Jer
o fafaerar i s 21

FROT (R) : IV Hfes=d arae = A Marwr &= &t

T ¥ ST 9 Sl 3w Bl 21 3R SwTRe
wAfaReT 9 At 9Rad= wutar 31

(1) (A) 3R (R) 3 i 2 afere (R)wdt = 181 2
(A) @

2) (A)¥E 2 A (R) o @

(3) (A)ed & AR (R)9ET 2

@) (A) IR (R)3F) @&t 7 3R (R) WET =T & (A) T

AT FY BT 99T W

(1) sgafie ffaear sifeal F o el @

(2) w9 ffemr w1 FEi T 8T ¥ 9 S e
A & 9FR ¥ BT

(3) iR Faferem =1 Feior Al weeR o wikRufosit
a4 g BT #

(4) =g &

TR W FET

YA -1:

SO o 3R IRE IE i Sged & TR =

HYd -l :

e A4 T S -9 A TS el B

4 v fawen ¥ 4 a8 I g

(1) 3 U | 30X T 11T 21

(2) T 198 I YA |17 B

(3) FUT | ® T FU I1EE R

(4) 3 FUF | R T (198 2
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196.

197.

198.

Given below are two statements

Statement I:

Cuticle absent in roots

Statement Il :

Each stoma is composed of two bean shaped cells
known as mast cells which enclose stomatal aperture

Choose the correct answer from the option given

below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct
(4) Both Statement | and Statement |l are correct
Given below are two statements

Statement I

In Pea stem are converted into thorn for protection
Statement Il :

In pumpkin leaf are converted into tendrils for climbing

Choose the correct answer from the option given

below:

(1) Both Statement | and Statement |l are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct
(4) Both Statement | and Statement Il are correct
Given below are two statements

Statement I

The tumorinducing (Ti) plasmid of E.coli has now been

modified into a cloning vector
Statement Il :

Retrovirus in animals have the ability to transform normal

cells into cancerous cells.

Choose the correct answer from the option given

below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement |l is correct

(4) Both Statement | and Statement Il are correct

196.

197.

198.

R A F D

FYT -1:

e S ¥ SR B 21

HYT -1l :

TAF T H A & FER A o FEene e 21 e

Hiww FIRY Fad 71 S o @i B @ 9= Fe ey
Bl

R e Rewed & ¥ 98 Ior g

(1) A FUF 13 HU 1T 2

(2) T 198 I HYA | B

(3) T | T & T U IIEET B

@) 2 FYF | 3R = 11EE =

R RvwA T

Y -1:

WX ¥ T g B o A F w29 W 2
Ty -l :

Fg ¥ v WA B forw wae A w=e @ 2
HR e fawen) ¥ ¥ vt SR T

(1) 39 F99 |3 T | T )

(2) FHF 198 g F e 2

(3) T | T B o U I1EE 7

(4) A U | S FE N R
MR FuT e

T -1:

30 FEE N IR IRT F d1a (Ti) <A T
waEE & 7 ¥ 39 waRa & fear w2
FT -1l

JIERANIY] & G GF IR S S IS
¥ TFART FH I e B B

A e Rwed & 4 @ I g

(1) 2 FF | 3K Y 1 T 2

(2) I |98 T FH |17 B

(3) FYF |7 B T FYA 1981 B
(4) 3 FAT 13T U =S 2
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199. Given below are two statements 199. R Rv e a7 :
Statement I FoT -1 -
Biological museums are generally set up in educational AT BaeE T A e Sy ey g
institute such as schools and collages. - !
wictell ¥ wAT e 9 2
Statement Il :
FYA -l :
Indian botanical gardens situated at howrah. .
fteae Mefera M wEeT A R 2
Choose the correct answer from the option given
below: e Ry R & 9 o S =
(1) Both Statement | and Statement Il are incorrect (1) 3 FH 1R FHT 1177 2
(2) Statement | is correct but Statement Il is incorrect (2) o 198 Ty FA 1|77 B
(3) Statement | is incorrect but Statement Il is correct (3) T |7e & W] Y G981 2
(4) Both Statement | and Statement Il are correct (4) 3 FUF 1 3R T 1 R
200. Statement-l- Smooth muscles are straited in | 200. TP 3 el ¥ Y Rars 38 2

appearance,

Statement - Il- Smooth muscles are Involuntary | o - II- Rl 33 aRes @i B 2

Neurogenic. (1) F4 | 3R FF 1| 3 3 B

(1) Both Statement | and Statement Il are incorrect |
(2) F¥F 19T T AFRFA U || FE 7
(2) Statementlis correct but Statement Il isincorrect

(3) U | G 7 AR FYT 1ET 2
(3) Statementlis incorrect but Statement Il is correct

(4) Both Statement | and Statement Il are correct (4) T | 3R o | 2 e
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SOLUTION

PHYSICS

SECTION-A

(M

@

M

@)

@

&)

SECTION-A

[NCERT=23] | 1.

Ar
Percentage error = 3 3 x100

:3XEX1OO:@:11%
5.4 18

[NCERT-29]

If both assertion and reason are true but reasonis | 2.

not the correct explanation of the assertion
[NCERT-395]

3.

04 P |
100 P

P' = 250P |

[NCERT-42]
Suppose velocity at mid point is V | 4

B —
a

L .
I >

« S

V2 =u2 + 2as

W4+<

v

1

1
C

v
A
w

v2=V2+ 2as
VZ_y2=y2 -2
2V2=u? +v2

VZ=u2 +v2

V=1f%(u2+v2)

13.6 13.6
AE=[_3_2)_[_2_2)
_13.6x5
T 9x4

[NCERT-423] | 5.

=1.89

[Pre Year Q] 6.

_ 12400eV A
T 2.5eV

= 4960 A.

(1) [NCERT-23]

Ar
VIGEGE aﬁ': 3T><100

~3x 22,100 = 299 _ 119
5.4 18
[NCERT-29]
e TFRU 3R R A1 98 7 g RO T
T T T Y I 2

(1)

2

[NCERT-395]

(3) [NCERT-42]

O"<

4
w
A 4
4
w
A4

V2 =u? + 2as
v2=V?2+ 2as
V22 = 2= \f2
2V2= 12 +v2
V2= 2 + 2

V= 1/%(uz +v3)

13.6 13.6
AE=(‘32)‘(‘22)

_ 13.6 x5 ~189
9x4

2 [NCERT-423]

3 [Pre Year Q]

_ 124008V
2.5eV

= 4960 A.
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10. (3)

1. @
12. (3)

(1) [NCERT-102] | 7.
Relative vertical acceleration of A with respect to B

= g (sin? 60° — sin? 30°)

= 9.8(3-1J =4.9m/s?

4 4

(4) [NCERT-281] | g

Let m g of steam be condensed into water.

Now, heat given by steam = heat taken by water

Som x 2260 + m x 4.2 x (100 — 90)

=22 x4.2x%(90-20)

2302 m = 6468

m=28g.

Thus, (22 + 2.8) = 24.8 g of water will be present at

90°C.

(1)
for first S.H.M
Ratio of amplitude

J3

[NCERT-349] | g,

A
a, 2

for second S.H.M
Phase difference is |

L]
4 6 12
[NCERT-79]
- 10.
Vy =u, -g |
V,=30sin 30— 10 x1.5 =0
ball is at highest point - 6=0
[NCERT-] | 11.
[NCERT-69]
>V, -V, 12.
& -4
A B
(600V) (oV)

Decrease in potential energy = increase in
kinetic energy

1
gAv = Em(vg -v;)

IO'SX(GOU)-%x10'3x(V§ v
12x107° =v] -V}
vi=vl-12x107

=(0.2)" -12x10°

vi =28x107 m/s

v, =2.8x10" m/s

=J2.8x10 cm /s =16.8cm/s

) [NCERT-102]
AT B & Ael MR Seafer wor
=g (sin? 60° — sin? 30°)
- g_g(i_lJ =4.9m/s’
4 4
@) [NCERT-281]
AT m g T oer ¥ JRafdT 8 I 2

M9 BRI <F TR ST = O R o A SOl
- mx 2260 +m x 4.2 x (100 — 90)
=22 x 4.2 % (90 — 20)

2302 m = 6468

m=28g.

3, (22 + 2.8) = 24.8 g 7l 90°C T Jufeu 1M
(1) [NCERT-349]

T O HET S & fore

HEM T A

a _Vv3

a, 2

g @@ o iy F g

FIAR &

r_m_m

4 6 12
3) [NCERT-79]

Vv =i, —~4,

V =30sin 30 - 10 x1.5 =0
L e T IE g RE . 6=0
(4) [NCERT{]
(3) [NCERT-69]

>V, -V,

® -

A B
(600V) (ov)

1
qQAV = Em(vé -vi)

1o~8x(600)=%x1o-3x(v§ vl
12x107° = v} v}
vi=vi-12x10"

=(0.2)" -12x10°

v2 =28x10" mfs

v, =2.8x10" m/s

=/2.8x10 cm /s =16.8cm/s
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KA ) [NCERT-383] [ 13. (1) [NCERT-383]
14. (4) [NCERT-104] | 14. (4) [NCERT-104]
T To T, 4T,
2i:1;1 2—ﬂ:1:'1
W, Wy
Da 1.4 Da ~1:1
Wy Wy
15. (2) [NCERT-121] | 15. (2) [NCERT-121]
20 20
Given: U= feqr2 U it
z z
For a conservative field E = _AU T AR 89 % B E - _Au
08 -0 0 08 -8 0
A=i—+j—+k— T A=i—+ | —+k—
Where 2= 1 5 oy T & W AT e Ty T
Fo-i | Fo|i8 MY
X oy oz ay oz
. iﬂ(ZOxy}_ji(20xyj+ﬁi[20xy] | _ ii[ZOxy}_ii[mxy}_ﬁ_[ZOxy}
ox\ z oy\ z 0z\ z ox\ z oy\ z 0z\ z
5 A I = :
- (2 (2 SIEIIEONES)
z z z z z z
=_(@J7_(ﬁ)j+ 20xy ¢ =_(ﬂJi_(%}]+2of’g
z z z z z z
16. (3) [NCERT-295] | 16. (3) [NCERT-295]
Power p o r274 TMET p o 2T
2 4 2 4
Eé['i] X(T_zJ A[ﬂj X(T_’Z] s P (nY (T _(4Y (Tr2) _,
P, Lr, T r T E*EXT*TX?*
17. @) INCERT-187] | 47. (3) [NCERT-187]
GMM, G GM.M
F:T:EX1OOX100 Fo r\l 2 :gx100x100
6., F_ G F
R 10000 E:_10000
, G G
R R
F
‘= 9375 ' F
10000 S 9375
15
F'=2F , 15
16 F 7EF
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18 (2
Areas
19. (1)

[NCERT-184]

[NCERT-146]

The situation can be shown as : Let radius of
complete disc is a and that of small disc is b. also
let centre of mass now shifts to O, at a distance x,
from original centre.

The position of new centre of mass is given by

—G.7h’ X,

X =
CcM
o.na’ —a.nb?

Here,a=6cm, b=2cm, x, =3.2cm

X — —ox w2y x3.2
Hence, Sew = o % (B —ox T x (2)°

_12.8n _

-0.4cm
32n

20. (3) [NCERT-174]

F-f=ma

(i)

2
fRlp =D

for pure rolling
a=aR

from (i), (i) and (iii)

....(iil)

_ mRo

F +maoaR

F=§mRa=>a=i
2 3mR

8. (2 [NCERT-184]
REL Tl
19. (1) [NCERT-146]
TEARER AF1 91 Il S FEeEr a T9 S gl
I e b 8 3R FEEE o a9 g Rufa &
x, T faeafas B g O, W w89 9T 21
oY 1 T i el
—G.:rcbz.x1
' Xow = o.xa? —amb?
I I8l W, a=6cm, b=2cm, x, =3.2 cm
B —oxm(2) %3.2
TR, Xow = oxmx(BY —oxnx(2)
= 1§éin =-0.4cm
20. (3) [NCERT-174]
F-f=ma (i)
fR=la= o’ o
=1 :me (i)
ma
F
. i ;
Toie: Areke i ¥,
a=aR ....{iii)
(i), (iiy e (iii) ¥,
F= mer +maR
F= §mRot = i
2 3mR
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21. (4)

22. (1)

23. (2

24. (4)

25. (4)

26. (1)

27. (3)

[NCERT-26]
Here E = 2i + 3j+k NC™,$ =101 m?
Electric flux ¢, = ES
= (20 +3j+k NC™").(10im?)
=20 Nm2C-".
[NCERT-379]
Change in pressure and density are maximum.
[NCERT-115]
Let voltage at C= xV
KCL:i, +i=i
20—x+10—x _ x-0 58 = 10
2 4 2
andi=5amp
[NCERT-115]

Potential difference across AB will be equal to
battery equivalent across CD

E., E_E 1,23
vy _h K 11 1_6_
Vie = Voo = 1 1 1 11 1‘3_2V
—+—+— —+—+-
L r r 11 1
[NCERT-313]

There is no maximum minimum object distance
for convex mirror to form real and inverted image.

B- 3[“_0'(sin 60° +sin60°)}
4qr

a 1
'=Se———i— e
Here, 2J§ 2\/5

B:3[4nx107x10x2\/§l:§+€ﬂ

4 x1

B=18x10"° =18uT

L =2zR L=Nx2aR
R =Nr

Mol HoNi

— 0 B.=+0"

2R © o
B HoN’i

2R
B _1
B, N

24.

21.

22,

23.

26.

27.

@ [NCERT-26]
8l E=2i+3]+kNC™,$=10im?
g v ¢, =ES
= (21 +3]+k NC").(10im?)
=20 Nm2C-".
() [NCERT-379]
T T T A IR Ao BT &
) [NCERT-115]
HAHT CR favmg = xv
KCL: i, +i,= i
20 0o 20, =0
2 4 2
3T i=5amp
@ [NCERT-115]
E,,E: B 1.2 3
Vooy _hobon 1t 6,
ARREIEN NN
—+—+— —t -t
E e, 11 1
@ [NCERT-313]
I 70 & forg Al ik 39 Sf WM %
fore #E st ~geaw a5 <0 e 21

(1)

B= 3[:—°I(sin 60° + sin 60° )}

mr

a 1
r=——e——-
Here, 2\/5 2J§

B g 4mx107x10x23| 3 3
) 22

4nx1

B=18x10" =18uT
(3

L =2xR L =Nx2zR
R =Nr
Hol HoNi
B, = -2 B, = —°—
LT 2R €7 or
HoNzi
B. =
¢ 2R
B._1
B, N?

NLI/ 6



28. (2 28. (2)
29. (3) 29. (3)
30. (2) [NCERT-195] | 30. (2) [NCERT-195]

Coercive force i
3. (1) [NCERT-193] | 31. (1) [NCERT-193]

Susceptibility of ferromagnetic substance is > 1 e gﬁﬁq qarf 9 HE%"' FTAFE > 1
32. (1) [NCERT-337] | 35 4) [NCERT-337]

ot A1 1 1.1 1

Forobjective lang o Vo U, For objective lens f— = V_u ‘I

T Aty ~20em A At Ay —20em

vo §ou 4 -5 20 Vo f, u, 4 -5 20

Y D 20 20 D 20 20
M="211+ "= 1+5-1=12 o = 2l-12

Now uo[ i 5}[ +10} Now M 0(”@ 5}( 10}
33. (1) [NCERT-187] 33. (1) [NCERT-187]

The horizontal components are (B,,), = Bcos¢, and | The horizontal components are (B,,), = Bcos ¢, and

(B,), =Bcosg, (By), =Bcosd,

(Bu), _cos¢, _cos30° _ f <2 = J3 | (Bu) _ cos¢, _cos30° _ f 2 = V3

(B,), cos8, cos45° |2 (B,), cos®, cos45° 4=
34. (4) [NCERT-188] | 34 (4) [NCERT-188]

B =B, cos 60° B =B, cos 60°

H =B, cos 30° H =B, cos 30°

1 1
B _cos60° 37 _ 1 B cos60° 2 1
H cos30® 3 3 H cos30® 3 3
2 2
35. (1) [NCERT-178] | 35. (1) [NCERT-178]
SECTION-B SECTION-B
36. (3) [NCERT-260] | 36. (3) [NCERT-260]
NyN NN

M = pol, 11 2A M = pgp, T2 A

M o NqNo M o< NqN3

Since NN, 10 x5 = 5x10 = 50 in both cases ek A 8 A NN, = 10 %5 = 5% 10 = 50 F=F~T

Mutual inductance will remain same. YT U T R
8. @ [NCERT-222] | 57 (9 [NCERT-222]

2 g Y di L (RL® R R R : P~y BT

|:|0[1_9L}:>a:—|0(TJeL L e i~i0[1—eLJ:‘i*—ig(FJeLA"’FsL

d iR E .
Pt BB = pip O IR L E
d L L At s L L
gy E-EY =4-EF ~E_g0v
20
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38.

39.

40.

41.

42,
43.

45,

46.
47.
48.
49,

(1) [NCERT-379] | 38.
Reflected beam is polarised 100 percent
(4 [NCERT-366] | 30
x,=2d
X, = J/5d
AX =X, — X,
Jsd-2d-2
2
g A
2(J5-2)
(4) [modified] | 40
9F
(1) [NCERT-275] 41
(-i+1)

@) [NCERT-248] 42
@) [NCERT-217]
emf |

T/4
0 T2 3T)aT ; |
(&) [NCERT-29] I ,,

As per Gauss's theorem in electrostatics, the
electric flux through a surface depends only on amount
of charge enclosed by the surface. It does nct depend
on the size and shape of the surface. Therefore, electric
flux throutgh the surface is same for all the figures.
(4) [NCERT-95]

Since, due to wrong connection of each cell, the
total emf is reduced by 2E, then for wrong connection
of three cells, the total emf will reduce to (nE - 6E)
whereas the total or equivalent resistance of cell
combination will be nr.

M

45.

[NCERT-202]

@ [NCERT-265]
@ [NCERT-297] | 46-
) [NCERT-231] :;'
For an ideal gas, 49.
Cp-Cy =R
C
P
and By ¥
1.55R 31
Cp=—=—=—
Hence, P =055 11

(1) [NCERT-279]

rafe fEer 100 gfoer g e 2
(4) [NCERT-366]
X, =2d
X, = Jgd
AX =X, — X,
A
J5d-2d = =
ds *
2(\5-2)
4) [modified]
9F
(1) [NCERT-275]
(-i+])
4@ [NCERT-248]
(2) [NCERT-217]
emf
T4
0 T2 3T/4T
(4) [NCERT-29]

TaceRH (o ) ¥ Wia & 7Y P IER
|HE & WA ¥ T Tolew fiad 998 9 BR 9t 9w
R At e 21 9 W & SRR S ST R AR Rl
Tl 21 TEloe, UEE & WeAw 9 e wwew o el
& forg w9 21
(4) [NCERT-95]
i, TF ¥ B T FAFIT F FRT A EMF 2E
A FA A AR, WA AT F T P & oY, el
EMF &9 B¢ (nE - 6E) B 1Y, Saieh 9ot |aio 7

A AT T IR nr BT
1) [NCERT-202]
2 [NCERT-265]
2 [NCERT-297]
(1) [NCERT-231]
T A9 & fow
Cp-Cy =R
C
~p_
R oy 7
1.55R 31
a9 Cp =55 ~ TN

NLI/8



[NCERT-90]

50. (3)
Using,
Rf = RG (1 * at)
20 =R, (1+20a)
and, 60 =R, (1+500a)
" 1+ 5000
- 1+ 200
‘ 1 0
ie o=l C
’ 220
and then, Ro = iffg
Attemperature 30°C
R= %{”ix BOOJ T

3
STERT F T
Rt = Rn (1 + O:t)
20 =R, (1+20a)

B 1+ 5000
- 1+ 200

. 1 0
- = —[ C
e %=550

55
A Ro=0
30°C A9 R

R=§ 1+LX3DD =430
3 20

NLI/9

[NCERT-90]




CHEMISTRY

SECTION-A SECTION-A
51. (2) [NCERT-XI-273] 51. (2 [NCERT-XI-273]
+2 0 +2 +2 0 +2
O=C=C=C=0 O0=C=C=C=0
52. (4 [NCERT-XII-175] | 52. (4) [NCERT-XII-175]
PH, has lower boiling point than NH,. PH, &I F/a9ieh NH, & &% 21
In NH,, hydrogen bonding exist which increases NH, ¥ BTggioM ot 8 o9 918 & J91 TS
its boiling point. R =1
53. (2 [NCERT-XI-304] 53.  (2) [NCERT-X1-304]
Li is strongest reducing agent among alkali metals. g U1 3 ¥ Liwed 19 S 2
54. (3) [NCERT-XI-308]
@) [NCERT-XI-308]
Deep blue black solution
&Y AT e e
55. (4 [NCERT-XI-318]
| 55. (4) [NCERT-XI-318]
Tl — 11.85 g/lcm?®
TI— 11.85 g/em?
56. (4) [NCERT-XI-325]
| 56. (4) [NCERT-XI-325]
sp?
sp®
57. (2 [NCERT-XI-368] |
57. (2 [NCERT-XI-368]
32x0.4813x100
% S = =42.10 % 0.4813x10
259015 i = 32X2373><D'IX5 0:42‘10%
58. (3) [NCERT-XI-382]
58. (3) [NCERT-XI-382]
Cu/523K /100 atm
2CH4 +09 CH,OH
3 2CHg + 05 Cu/523K /100 atm CH,OH
59. (2 [NCERT-161, NEET-2023]
59. (2 [NCERT-161, NEET-2023]
60. (4) [NCERT-XII-235]
60. (4) [NCERT-XII-235]
. . o o .
Lanthanoids exhibit +3 common oxidation state. ﬁ’-ﬁﬂﬁg +3 St e Tl w2
Ce can also show +4 oxidation state. Ce +4 3T e S Teifa Fet 21
61. (2) [NCERT-XI-85] 61. (2) [NCERT-X1-85]
(A) is correct but (R) is not correct (A) T 2 AT (R) 98 75 3
62. (4) [NCERT-XI-94] 62. (4) [NCERT-XI1-94]
S0, — Acidic 5
63 3 3 NCERT-XI-111 i
- @ [ X | g, 3) [NCERT-XI-111]
1D =3.335 %10 cm. 1D =3.335 x10-% cm
64. (1) INCERT-XH21] | g4, (1) [NCERT-XI-121]
SP — diagonal hybd. SP — 9t g

NLI/10



65. (2) [NCERT-XI-141] | 65. (2) [NCERT-XI-141]
T,>T,>T, T,>T,>T,

66. (4) [NCERT-XI-125] | 66. (4) [NCERT-XI-125]
The geometry of PCI, is trigonal bipyramidal. PCI, %t wfda fremia fefafisa 21
Geometry of compound is decided by sigma bond iR S s R gy (WT“) 9 sélﬁl'{lil &
(bond pair) and lone pair of electron. TRl 9o g iR Bkt 2

67. (1) [NEET-2018] 67. (1) [NEET-2018]
Low temperature and high pressure FH 99 3R I=9 9

68. (3) [NEET-2021] 68. (3) [NEET-2021]
C.-C,=R C.-C,=R

69. (4 [NEET-2020] 69. (4) [NEET-2020]
Maximum number of atoms in 1 gm of Li 199 Li ¥ 9t & we sftieaw 2

70. (1) [Mains 2012] 70. (1) [Mains 2012]
OAM = J{1+2) N, h

= on | OAM =l +2) 7
fors ->1=0 fors > 1=0
I

7. (3) [NCERT-XII-25] 7. (3 [NCERT-XII-25]
AgBr contains both Frenkel defect and I AgBr¥ el T e I A 7
Schottky defect.

72. (4 NCERT-XII-52

72. (4 [NCERT-XII-52] ) [ ]

2.53%1.8% 1000 S RLORIEN o
H53Ix1.8x% B sl ) i B
My="—""——"—">= ; a0
2= 088x00 >0 G
73. (1) [NCERT-XII-74]
73. (1) [NCERT-XII-74]
AG = —nEE AG =-—nFE
=-2x1.1x96.487
=-2x1.1x96.487
=-212.27 KJ mol~
=-212.27 KJ mol™'
74 (4
74. (4 )
Cl has more electron affinity than F. Cl=l % 2 d Fa 2
In non metals, electron affinity of 3 period element alﬂlg\’:ﬁ a{' if" T S T 5é| I ST fadir
is higher than that of 2™ period due to less inter I 9 o Siftren © e F[r‘ﬂq Frad Cﬂ'ﬂl‘g’ﬁ Ea)
electronic repulsion in third period non metal. T —sﬁq@jﬁq; fado 2

75.  (3) [NCERT-XII-127] | 75. (3) [NCERT-X11-127]

lo i—Iogk+1lo P X 1
Qm— H g Ioga=logk+ﬁlogP

76.  (4) [NCERT-XI-152] | 76. (4) [NCERT-XII-152]

FeCO, FeCO,

NLI/11



7. (1) [NCERT-XI-382]
CH, +0, —1%2 5 HCHO + H,0,
78. (4) [NCERT-XII-201]
HI—160.9 pm
79. (3) [NCERT-XII-208]
Group - 18
80. (2) [NCERT-XII-222]
Sc — +3 only
81. (3) [NCERT-XII-238]
Np — +7
82. (2 [NCERT-XII-256]
dsp?
83. (2 [NCERT-XII-297]
Frnkelstein reaction
84. (1) [NCERT-XII-383]
HVZ reaction
85. (2 [NCERT-XII-356] | gs
Statement | is correct but Statement Il is incorrect
SECTION-B
86. (3) [NCERT-XII-417]
n-Hexane
87. (4) [NCERT-XII-439]
Adipic acid
88. (2 [NCERT-XII-456]
Novestrol
89. (3) [NCERT-XII-324]
N.Cl
Compound A= @
OH
Compound B =
90. (1) [NCERT-XII-338]

Acetylsalicylic acid

82.
| 83.

| 84.

77.

78.

79.

80.

81.

(1)

Mo

[NCERT-XI-382]

CH, + 0, — %2+ HCHO + H,0,

4)
HI—160.9 pm
)
E - 18
2
Sc — +3 only
3)
Np — +7
2
dsp?
2
[REEEEEIEIER)
(1
HVZ sifferar
@

[NCERT-X1I-201]

[NCERT-XII-208]

[NCERT-XII-222]

[NCERT-XII-238]

[NCERT-XII-256]

[NCERT-XI1-297]

[NCERT-XII-383]

[NCERT-XII-356]

T |98 & AT Y |l e )
SECTION-B
86. (3) [NCERT-XII-417]
n-adee
87. () [NCERT-XI1-439]
ST 3t
88. (2 [NCERT-XII-456]
AT
89. (3 [NCERT-XII-324]
N,Cl
il A=
OH
TifirF B = @
90. (1) [NCERT-XII-338]
TR 3

NLI/12



1. 7 [NCERT] 91. (2 [NCERT]
Hinsberg test is for amine. IEEUR TG L T
92. (3) [NCERT-XI-365] | g, (3 [NCERT-XII-365]
Propanol - 370 K T — 370 K
93. (2) [NCERT-XII-373] 9. (2 [NCERT-XII-373]
CHO CHO CHO CHO
HNO, /H,S0,
273-283K NO HZN% g:f? ?4
2 - NO,
94. (3) [NCERT-XI] %. (3 [NCERT=XI]
Hyg = lyg + 2HIg, for this An, =0 Hyg 7 lig +2Hlg forthis an, =0
95. (2) [NCERT-XI] 95. (2) [NCERT-XII]
CH,=CH-CH,-CH~-C=CH CH,=CH-CH,-CH,~C=CH
1-hexene-5-yne 1-hexene-5-yne
9%. (3) [NEET 2019] | %. (3) [NEET 2019]
Due to more a-n. T o-n F FR
I
97. (3) [NCERT-XI-285] " o7 (3 [NCERT-XI-285]
Triti
ritium I ;‘@'&p{
98. (2) INCERTXH1ST - 96 ) [NCERT-XI-415]
Clean water have BOD value =less than 5 ppm 3[€ Wi ST BODHH 5 ppm¥ FA 2
9. (1) [NCERT-XI-215] | o ) [NCERT-XI-215]
The conjugate acid of NH, is NH,* NH, &7 i 377 NH -1
3 4
100. (2) [NCERT-XI-103] | 109, (9) [NCERT-XII-103]

The unit of rate constant for first order reaction is
s,

7o Fife siffRar 39 = R &1 W s 7

NLI/13



BIOLOGY

SECTION-A—(PART-1)

SECTION-A—(PART-1)

; -1-168, Mod.
101.(4 NCERT-1-168, Mod. NEET 2016

Terminalized chiasmata - Diakinesis

Exchange of segments of — Pachytene

chromatids

Synapsis of homologous - Zygotene

chromosomes

Appearance of chiasmata — Diplotene
[NC-I-152to 155]

Turn over number determined the enzyme activity

102. (1)

enzyme activity « Turn over number

Turn over number = Number of mole of substrate
are converted into product per second by using one
mole of enzyme

103. (4) [NC4-112]

» Both (A) and (R) are correct and (R) is the correct
explanation of (A)

104. (3)

Statement I:

[NC-1-102to 106]

Human heart consist of epithelial, connective,
muscular tissue and neural tissue.

Statement Il :

In connective tissue fiber provide strength, elasticity

and flexibility

105. (1) [NCERT--135]
Amyloplast — Carbohydrate
Elaioplast — Fat
Aleuroplast — Protein
Chromoplast —  Xanthophvll
Chloroplast —  Chlorophyll

106. (4) [NCERT--138, 139, 140]
Microbodies — Plant cell
Microbodies — Animal cell
Centromere — Chromosome
Nucleolus — Non-Membrane bound

structure
107. (4) [NCERTA-159]

= Both (A) and (R) are correct and (R) is the correct
explanation of (A)

101. (4) [NCERT-I-168, Mod. NEET 2016]
FINTHCT I JTAHE  — IR
SR F A - W@
gl

AN A BT AT — JHICC
FowieT o @R = - fuee

102. (1) [NC-1-152to 155]
TG G T i 2

foRaTUR & AN #1 I ¥ 9fY Ao gRafa B9
IR AT TR A Trolgd @ B}

TS 1 Tl o T JAET a9 n

103. (4)
« 39 A 3R REE 2 3R R, A T FE RSET T B
104.(3)

[NCA-112]

[NC-1-102to 106]
Sy -1:

I FT god I, G4l 99T S 3R A
FaF FT a4 B B

Y -l :

AT T § ag I, TURYET 3K AHeTe I
T 2

105. (1) [NCERT-1-135]
TAEAIRE ~  FEEEE
TR -
TR - 9N
FAART — ST
FARARE — TR
106. (4) [NCERT-I-138, 139, 140]
HAEH ~ &Y T
AT — W e
LAEREES — TRA
Hfvset — ool & 78 Y & s
107. (4) [NCERT--159]
+ T A 3R REH ® 3K R, A 1 &I S el B
T8 9IeY R Awga A gRr S 8

NLI/ 14



108. (4)

109. (4)

110.

11.

112.

113.

114.

115.

116.

@

@

@

M

M

[NCERT-lI-28, 29]

Wind pollination also requires that the pollen grain
are light and non sticky so that they can be
transporated in wind currents. They often possess
well - exposed stamens so that the pollens are
easily dispersed into wind currents and large often-
feathery stigma to easily trap air-borne pollen
grains. Wind pollinated flowers often have a single
ovule in each ovary and numerous flowers packed
into inflorescence.

[NCERT-1-31]

Continued self- pollination result in inbreeding
depression. Flowering plants have developed many
devices to discourage self pollination and to
encourage cross-pollination. In some species,
pollen release and stigma receptivity are not
synchronised in some other species, the anther
and stigma are placed at different positions so that
the pollen can not come in contact with the stigma
of the same flower. Both these devices prevent
autogamy of self-pollination. The third devices to I
prevent inbreeding is self-incompatibility.

[NCERTHI-23] |

(A) is true but (R) is false
[NC4-176-179] |
Antiport, symport are a type of facilitated transport.

Special membrane protein required for facilitated

transport.

All are passive and down hill process.
[NC-I-179-180]

Water potential — Pascal

Solute potential — Always Negative

Pressure potential —  usually positive and may

be negative
[NC-1-197]

Sulphur is the main constituents of thiamine, Biotin,
Ferredoxin, Coenzyme A

Some Amino acid
Several coenzyme
[NC-1-179]

The water potential and osmotic potential of pure
water are zero and zero

[NCERT-1-210,211]

The maximum photosynthesis takes place in blue
and red region of the spectrum

[NCERT-I-210]
Chlorophyll b = Yellow green

108. (4)

109.(4)

110.

11.

112,

113.

114.

115.

116.

[NCERT-1-28, 29]

B4 & BRI TAIOT 8F arel 91 & GO 3o 3R
fafaaree B B9 2, ST qRe SR Bed
AT 3R 95 09 9 T SIS 9 U e
@ 21

[NCERTAI-31]

qofig wredl ¥ < a1 @il gl s g deaE
Tl EaIEEd T 8
@
(A)yaé 2 A (R) e 2
@

[NCERT-1I-23]

[NC--176-179]

T TS, TeRTATE, S T, feer, TR &
T F TR

a. oot fAftrg v 2
b. &% w3 Rel wehiar 2

c. garA e 1 fafire ffearent 98w 91 smawaerar
2R R

(1) [NC--179-180]

(1) o v - YieRd

2) faom e — BT AT

(4) =@ v — U YFE 3 TS

B R &

@) [NC-1-197]
HEHL T 99 7

a. qEEe

b. S A

d. 9T 9R FIT-IgH

(4) [NC--179]
i e 3 st favia g o/ o1 AR
T BT ® -

(1) [NCERT-1-210,211]
Halfer JoRTeT SR WA B e IR e &4 F
B ®

(1) [NCERT-I-210]

FoRite b =T A1 diel &7 2
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117. (4) [NC-I-260, 261, 262] [ 117. (4) [NC-1-260, 261, 262]
Glisson capsule — liver - TemEE - T e U e
Gall bladder — it is not a digestive gland + o= Eﬁ"ﬂﬂ - 93d
Gastric gland — stomach © WS AR - JFMRE
118. (2) [NC--271, 272] * TR T TR - §9
. . 118. (2) [NC-1-271,272]
Tidal volume - 500 mL of air
© SENT e — 91 T 500 mL
Inspiratory reserve — 2500 - 3000 mL of air . T & _ g =T 2500 - 3000 mL
volume sy
Expiratoryreserve — 1000 mL of air »  Fvaas gfea - ag &l 1000 mL
volume I
Residual volume — 1100 — 1200 mL of air .+ AR FETA — 99 & 1100 - 1200 mL
Vital capacity — 4000 - 4600 mL of air - S — 91g %1 4000 - 4600 mL
119. (2) [NC-I-282 to 287] 119. (2) [NC-1-282 to 287]
Lymphatic System — Todrain back the A, v 59 i, wfR TR :
tissue fluid to the
circulatory system S Sl 9T A
Pulmonary vein — Carries oxygen B. Gugd I i. aﬂfﬂﬂ—?—d a8
ated blood
Thrombocytes — Coagulation of C. Y I4TET iv. ®fER FT T
blood
D. Rmhrre i.  gfaen wfaferar
Lymphocytes — Immune Response
120. (4) [NCERT-11-43, 47, 50, 51] | 120. (4) [NCERT-II-43, 47, 50, 51]

121. (2)

122. (3)

123. (4)

Menstrual flow — 3 — & days.
[NC-1-262]

Parietal cell or oxyntic cell secrete HCI.

; HCI :
Pepsinogen ——— Pepsin

[NC-1-284 to 287]

High Blood Pressure (Hypertension): Hypertension
is the term for blood pressure that is higher than
normal (120/80). In this measurement 120 mm Hg
(millimetres of mercury pressure) is the systolic,
or pumping, pressure and 80 mm Hg is the diastolic,
or resting, pressure. If repeated checks of blood
pressure of an individual is 140/90 (140 over 90) or
higher, it shows hypertension. High blood pressure
leads to heart diseases and also affects vital organs
like brain and kidney.

[NCERT--247]

Adenine derivative —  Kinetin

Terpenes —  Gibberellic acid
derivatives

Gaseous hormone -  Ethylene
Carotencide derivative—  Abscisic acid

wWaga-3-5fkT

121. (2) [NC-1-262]
UTECE SHITAH I AR it HOl g
T 2

122. (3) [NC-1-284 to 287]

Ivd & @ (3T 99 ¢ 3T a9 e o i 98
e 2, fored T = 99 (120 /80 ) ¥ e
BT 21 39 WI9es 7 120 Tl v ot (Rieiidiier 3 w5
T ) T IF A a1 90T = 3R 80 L v ot
IR a1 fate e (95W) o O Fed 81 A
T 1 T 9 IR -9R A9 IR ¥ @i 140 /90
7 TH e 2 € A 98 31 T welfie o 2
I T 919 ge I SIRAY Y S T T4 5
W 3 oY ARgsE T g R S A

g e 21
123. (4) [NCERT-1-247]
Ve g - FrEARed
il - oo sea
6 T - T
PACAZE H J=  — e 3
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124. (4) [NCERT-I, 233]
The correct sequence of electron acceptor in ATP
synthesis is Cyt. b, ¢, ¢, a, a,

125. (3) [NCERTH-232]
In krebs cycle 4C compound = Succinyl Co-A,
Succinnic acid, Fumaric acid, malic acid,
Oxaloacetic acid.

126. (2) [NCERT--78-81]

Tricarpellary gynoecium occurs in Liliaceae family.
+  Tulip, Aloe, Cholchicum, Asparagus.

Monocarpellary gynoecium occurs in Fabaceae

family.
127. (4) [NCERT-II-13]
Fruitfly — 8
Maize - 20
Cat - 38
Potato - 48
Dog ~ 78
128. (1) [NCERT-I43,44] |

a, b, c are paired seminal vesicles, a prostate and
paired bulbourethral glands respectively.

129. (2) [NCERT-II-95]
— RNAfunction as adapter, catalytic
— RNA and DNA both are genetic material

130. (2) [NC-11-88]

D—O - Mating
&

- Five unaffected offspring.

131. (4) [NC-11-86, 87]
» Both (A) and (R) are true and (R) is the correct

explanation of (A)

132. (4) [NCERT-II-91, 92]
Edward syndrome = 47 chromosomes

133. (4) [NCERT-I-101]
Jacob monod and francis Jacob elucidate the lac
operon

134. (1) [NCERTHI-119]

The given diagram is representative diagram of
human genome project

124. (4) [NCERT-], 233]
ATP TN ¥ Zolagle UIedh ol 98l &9 8
— Cyt.b,c,c, a,a,
125. (3) [NCERT-1-232]

®9 9% ¥ 4C difrr = WM Co-A, afFafHes
[NCERT--78-81]
TIEFR MR - faferedr S
AT MEAREET - Bavdr SRl

126.(2)

127. (4) [NCERTAI-13]
HeATeRAl - 8
T - 20
Sl - 38
e = 48
El = 78
128. (1) [NCERT-1-43,44]
a, b, ¢ FAW: THE, YT FR Feag>A A+ 2
129. (2) [NCERT-I1-95]

— RNA 3, IR &l & FE <l &
—» RNA IR DNA S Sraiires wers 2

130. (2) [NC-1I-88]

(3O -
&

131. (4)
« (A)3R (R)I && & 3R (R)9& == & (A)FT
132. (4)

[NC-I1-86, 87]

[NCERT-1I-91,92]
(CEGES ﬁa?ﬁ — 47T
133. (4) [NCERT-I-101]

e AR 3K BT ST 3 A AR # AR A
e S fear

134. (1) [NCERT-I-119]

Toar o o A S IRaeET @ e s
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135. (1)

[NCI-119]

There are many non human model organisms which
genome have also been sequenced -

Example : Drosophila, Yeast, Bacteria, Rice,
Arabidopsis, Caenorhabditis elegans. (a free living
non pathogenic nematode)

SECTION-B—(PART-1)

136. (1)

137. (1)

138. (3)

139. (2)

140. (4)

141. (4)

142. (3)

143. (1)

144, (4)

145.(4)

[NCERT-I-105]
Cardiac muscle tissue is a contractile tissue present
only in the heart
[NCERT-I-174]

In mung bean, resistance to yellow mosaic virus
and powdery mildew were induced by mutations.

[NCERT-lI-184]

Primary settling tank — aeration tank — secondary
settling tank — anaerobic sludge digesters

[NCERT-I-151]
Increasing order of immunoglobulin percentage in
human blood IgE < IgD < IgM < IgA < 1IgG .

[NCERT-II-154]
The congenital disease are genetic disease which
are transfer from parents to progeny. They are

present since birth in the progeny example -
Haemophilia.

[NCERT-lI-63, 64]
All are reason for infertility
[NCERT-II-49, 50, 51]
All events are related with human female
[NCERT-II-201]

In a method known as micro-injection,
recombinant DNA is directly injected into the
nucleus of an animal cell.

[NCERT-I-204]

Small volume cultures cannot yield appreciable
guantities of products. To produce in large
quantities, the development of bioreactors, where
large volumes (100-1000 litres) of culture can be
processed, was required. Thus, bioreactors can
be thought of as vessels in which raw materials
are biologically converted into specific products,
individual enzymes, etc., using microbial plant,
animal or human cells.

[NCERTHI-112]
The genetic code is nearly universal. It means that
each codon codes for the same amino acid in all
organisms including bacteria, plants and animals.

135. (1) [NCHI-119]

959 9R IHEY 9fE o 21 R e &
S & IR A SAFRIS T B g &

JEET : SrEiher, 4T, PTAReSCE Fon,
R B

SECTION-B—(PART-1)

136.(1)

- T U IO UF Ghae g Sa% € o Sed
g9 ¥ A 9§
137. (1)

[NCERT--105]

[NCERTHI-174]
A Ieaftaee I9FF @8R faefae gan @

138. (3) [NCERT-1I-184]
e ek 3 - ad % o Rl Fehi
eF - T I TR

| 139. (2) [NCERT-lI-151]
IgE < IgD < IgM < IgA < 1gG
| 140. (4) [NCERT-I-154]

S A A U BT 2 A AIRE B 21 3R
Ty -fIeT A e g T ¥ Br=Rd 89§ 3R 5
F 99T 4 1 IUuT B B
S-Sl
141. (4) [NCERT-11-63, 64]
T THAT T FR B

142. (3) [NCERT-I1-49, 50, 51]

T T AT A ¥ T 2

[NCERT-I-201]

f9Id DNA &g & 3=t 419 9k | Soaes
T ST 21 Aswisoee R

143. (1)

144, (4) [NCERT-1-204]
JARATeR & favg ¥ 9= 81
I F 9 2 W o= qerdl @ o w7 9 Riftne
et ¥ gRade B 7

145. (4) [NCERT-I1-112]

AERE FREEET & gh Sian] ¥ AFT 9
FeE TR & 0| STARI e o A
BT 21
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146. (1)

147. (1)

148. (3)

149. (2)

150. (2)

[NC-1-337]

Adrenal zona glomerulosa secretes aldosterone

hormones.

Aldosterone act mainly at the renal tubule and
stimulates the reabsorption of Na* and water and

excretion of K* and phosphate ions.

Hyper secretion of aldosterone increased blood

sodium level.
[NCERT-I-323, 324, 325, 326]
Reissners — Cochlea 147.
membrane
Blind spot —  Photoreceptor cells
absent |
Tympanic — External ear
membrane |
Sclera — Comea
[NCERT-1I-83] |
148.
Morgan attributed this due to the physical
association or linkage of the two genes and coined
the term linkage to describe this physical
association of genes on a chromosome and the 149

term recombination to describe the generation of

non-parental gene combinations.

[NCERT-II-130]

Triceratops, stegosaurus = extinct animal, reptiles

a type of dinosaurs.

[NCERT-11-89,30]

Haemophilia - sex linked recessive disease- non
stop bleeding

Sickle cell anaemia - Autosome linked recessive
trait -change in the shape of the RBC from
biconcave disc to elongated sickle like structure.

Phenylketonuria - Autosomal recessive trait -
Mental retardation

146.

150.

(1) [NC-1-337]

USHE ST TR TR S Araid el & |

+ TR U9 TgEe W AT FM 6l 71 3N
Na* 3 el & TrRIayeT 3K K*, ®iehe Ik &
a1 IR Far 2

. URRRTE  FAT 9Ev ¥ 9 ¥ Qe F =)

92 W 21
(1) [NCERT-1-323, 324, 325, 326]
g foreett —  ifgemr
rufeg —  YFHTERNE HifEEHT
FARIT
T Bt —  SEgE
e - THar
(3) [NCERT-II-83]
ST oc ! oc !
YT % ReiffeeE
@ [NCERT-II-130]
TEAeTTE 3 Rard F e e ®
— A e g

— 2 w099

— T UF THR P AN B

() [NCERT-I1-89,90]
ERIEfemI = T o 319l iR, R o s
Tt BT R = 3fciT sEprdl ¥R, RBC o1 SHIR & 50
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SECTION-A—(PART-2)

SECTION-A—{PART-2)

151. (4)

152. (1)

153. (4)

154. (3)

[NCERT-I-198]

Separation and isolation of DNA fragments : The
cutting of DNA by restriction endonucleases results
in the fragments of DNA. These fragments can be
separated by a technique known as gel
electrophoresis. Since DNA fragments are
negatively charged molecules they can be
separated by forcing them to move towards the
anode under an electric field through a medium/
matrix. Nowadays the most commonly used matrix
is agarose which is a natural polymer extracted
from sea weeds. The DNA fragments separate
(resolve) according to their size through sieving
effect provided by the agarose gel. Hence, the
smaller the fragment size, the farther it moves. Look
at the Figure 11.3 and guess at which end of the
gel the sample was loaded.

The separated DNA fragments can be visualised
only after staining the DNA with a compound known
as ethidium bromide followed by exposure to UV
radiation (you cannot see pure DNA fragments in
the visible light and without staining). You can see
bright orange coloured bands of DNA in a ethidium
bromide stained gel exposed to UV light (Figure
11.3). The separated bands of DNAare cut out from
the agarose gel and extracted from the gel piece.
This step is known as elution. The DNA fragments
purified in this way are used in constructing
recombinant DNA by joining them with cloning
vectors.

[NC-11-271 to 275]

Scrubber —  Water/lime spray
Electrostatic —  Discharge corona
precipitator
BOD —  Biodegradable

organic matter
Algal bloom —  Fish mortality

[NC-11-271-272]

According to CPCB Central Pollution Control Board
particulate size 2.5 micrometers or less in
diameter (PM 2.5) are responsible for causing the
greater harm to human health. In catalytic
converters unburnt hydrocarbons are converted into
CO,andH,0

[NCERT-I-195]

The convention for naming these enzymes is the
first letter of the name comes from the genes and
the second two letters come from the species of
the prokaryotic cell from which they were isolated

151. (4) [NCERT-I-198]

—> DNA T RRE 319 8T & 3K 9% o fF

TF "I 2l

_» T %Y 9rar DNA S 9o | I49 =t =1

—> & DNATEe THRE SFIEe & NI e TsFTr

T & FAGT Hh <@l o G B

152. (1) [NC-lI-271 to 275]
I o A
+ ferdmomafm - fEeH SR
- BOD - o el
FEWE e
« I TREA - i @ W

153. (4) [NCHI-271-272]
(@ & & ) i g R A @ IEER
2.5 HEF FHR AT 399 F9 (9 o 2.5) M
e &l THaH TEaH & o fimer @

— A F I 150 DB R I Fdl & S
TN FM B T8 DI LIRS HE Gl &

—1990s ¥ Reeel &7 991 & TE8 T YT 41
el H G e A
154. (3) [NCERT-1-195]
YA QUSRIEEINS & AR i T Wi 3 91

% TAIMR 31 9= <909 & o ¥ 99, ifear
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155. (1)

156. (4)

157. (3)

158. (3)

[NC-I-134]

Picture showing convergent evolution of australian
marsupials and placental mamals.

Placental mammals  Australian marsupials

Marsupial
Mole

Numbat (an teater)

A

Marsupial mouse

Iy

b

\l T,
ﬁgl d‘ el a |
Spotted cuscus

~ Flying
phalanger

Tasmanian wolf

" Woll

[NCERTII-122]
Isolation of DNA, Digestion of DNA by restriction
endonucleases, separation of DNA fragments by
electrophoresis, transferring (blotting) of separated
DNA fragments to synthetic membranes, such as
nitrocellulose or nylon, hybridisation using labelled
VNTR probe, and detection of hybridised DNA
fragments by autoradiography. A schematic
representation of DNA fingerprinting

[NCERT-II-108]
3-ATGCATGCATGCAT-5'— Template strand
\:
5-UACGUACGUACGUA-3 - mRNA

[NCERT-II-129 to 141]

The fitness, according to Darwin, refers ultimately
and only to reproductive fithess.

155.

156.

157.

158.

)] [NC-II-134]

srferr R

fom 7.7 amefoar Rt of s i =

) oY o R AW NCERTIM22]
Storr st ¥ S0 E

— ST A IR

— WgF TR & R SIeET S g

— TAFCIBHRGE & g STAT HIRCd 1 e
— g% T % § Uolsh v 8 fasfae o
(3

[NCERT-II-108]
3-ATGCATGCATGCAT-5' - 27ie ©1g
\
5_UACGUACGUACGUA-3' - mRNA
[NCERT-I-129 to 141]

3T & IER o i/ &1 fhene saat o
F H feaw o |

3)
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159. @)

160. (2)

161. (3)

162. (3)

163. (2)

164. (1)

165. (3)

166. (4)

167. (3)

168.(2)

[NCERT-II-170,171]
Statement |
Plant breeding is the purposeful manipulations of
plant species in order to create desired plant types
that are better suited for cultivation, give better yields
and are disease resistant.

Statement Il :

Genetic variability is the root of any breeding
programmes.

[NC-1I-215]
Statement -I- Gene therapy is the insertion of gene

into an individuals cells and tissues to treat disease
especially hereditary diseased.

Statement-11-GM plants have been useful in
increasing crop yields Decreasing post - harvest
losses and make crops more tolerant of stresses.

[NCHI-212]
Early diagnosis Serum analysis
not possible

[NC-lI-235]
If two species compete for the same resource, they
could avoid competition by choosing, for instance,
different times for feeding or different foraging
patterns. MacArthur showed that five closely related
species of warblers living on the same tree were
able to avoid competition and co-exist due to
behavioural differences in their foraging activities.

[NCERT-II-222]

A few organisms can tolerate and thrive in a wide
range of temperatures (they are called eurythermal),

[NCERT-I-58,59]
Both (A) and (R) are correct but (R) is not the
correct explanation of (A)
[NCERT--251]
There are many plants, however, where there is no
such correlation between exposure to light duration
and inducation of flowering response; such plants
are called day-neutral plants.
[NCERTH-279]
Plasma without clotting factor is called serum
[NCERTH-304]
Fascicles = muscle bundle
[NC-1-298]
Statement I:

An Adult Human excretes on an Average 1 to 1.5
litres of Urine per day.
Statement Il :

An Adult human excretes on an average 25-30 gm
of Urea per day.

159. (@)

160. (2)

161.

| 162.

3)

3)

163. (2)

164. (1)

165. (3)

166. (4)
167.

3)

168. (2)

[NCERT-II-170,171]
YA I

T IS 91ST Tl 1 U IgevEqel gRere
¥, afF TfeT ey 9 d9R & 9= g8 e o
F fore st ITART, 3TesT Iee ) el T A
gl i 21

Y Il :

alrer dRad-eiaar fRal WY g9 i o

AR 2 |
[NC-II-215]

FY -I- S e 8 @R ¥ SAEte 9 F°
TFE P o i ey &t FifrEst 3 Fo &
S = T S 2

FYH-11- GM Gtel &1 I9GNT Tl Ioare S, 99
e IS JHEE A A T BEal H el & gid

HfereR e s # S 3w 21
[NC-11-212]
AN FIRFF JeaE - G e
IHF 8 B
[NC-1I-235]

IEE & g A e A R A T
Torar e

[NCERTAI-222]
U T AT A T T H G F G

%1 3R G 9ed 21 A FeAN B 1 U
[NCERT-I-58,59]
T A 3R REE # 3K R, A & 981 A 8l
F 2|
[NCERT--251]
3 T oW TR Y 3Ef F TeEeR w9 e
IR & F Y g Y B 2, 3= Raw Aoy
&Y FEd ®
[NCERT--279]
ISl Thas FRE & faHT I e 7
[NCERT-I-304]
Ffirere 99 §e B
[NC4-298]
Y -1:
U % A9 IR sfEe 19 1.5 1=
IafoiT & 21
Y -1l :
U g A JiEad 25-30 A gRAr T I
FLT 2
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169. (1) [NCERT-I97] | 469_ (1) [NCERT-I1-97]
17% C=17% G
66% =A + T 7% C=17%G
A=33% 66% =A +T
T=33%
= o
170. (1) [NCERT-II-64] stk
The technigue called Gamete Intra Fallopian Transfer T=33%
(GIFT) is recommended for those females who
cannot produce an ovum. 170. (1) [NCERTAI-64]
171.(4) [NC-1-32, 33, 34] '
Oogamous type of sexual reproduction are occurs T o TP 2q] el Tl 5 21
in  Chlorophycaea, Phaeophyceae and A AR & fore R forar s 2 1 S s
Rhodophyceae . ;
P i Ftior =81 o wa B
172. (1) [NCERT-I-165]
The best stage to view structure, size andto count  171.(4) [NC-1-32, 33, 34]
the number of chromosomes is Metaphase
173. (3) [NCERT-I-20] FaTrgrarel FofTC 1 AT ST T e -
Some are pathogens causing damage to human | . FARGHEE
beings, crops, farm animals and pets. Cholera,
typhoid, tetanus, citrus canker are well known « TGRS
diseases caused by different bacteria. I
174. (4) [NCERT -1209]
You have studied the structure of chloroplast in 1172, (1) [NCERT4-165]

175. (3)

Chapter 8. Within the chloroplast there is
membranous system consisting of grana, the
stroma lamellae, and the matrix stroma. Thereis a
clear division of labour within the chlcroplast. The
membrane system is responsible for trapping the
light energy and also for the synthesis of ATP and
NADPH. In stroma, enzymatic reactions
synthesise sugar, which in turn forms starch. The
former set of reactions, since they are directly light
driven are called light reactions (photochemical
reactions). The latter are not directly light driven
but are dependent on the products of light reactions
(ATP and NADPH). Hence, to distinguish the latter
they are called, by convention, as dark reactions
(carbon reactions). However, this should not be
construed to mean that they occur in darkness or
that they are not light-dependent

[NCERT--32-39]
Unlike bryophytes and pteridophytes, in
gymnosperms the male and the female
gametophytes do not have an independent free-
living existence .

In algae and Bryophyte sporophyte de not have
free living existence.

TeATTEN ¥ OEA FH AT, FHR AT g H
e WA B

173. (3) [NCERT-l-20]

WECH PR JFEIRAS A = |

174. (4) [NCERT-1209]

TERTI A TR0 ¥ TR SIF9YT, e il Tl
HR ARSI T Jeatord 3T €9 ATP 3 NADPH
T F91 AT B B

175. (3) [NCERT--32-39]

R 3R AT AHEIREE 1 U o e T8 T
T 8 e AR e

e - g, A, g, Regan
I 3R FEFET F TWRIGEE F Q0 [T e

& qEr S
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176. (3)

177. (3)

178. (3)

179.

180.

181.

182.

@)

@

@)

@

[NCERT--204]
In addition along with the transpiration stream the
nodules of some plants export the fixed nitrogen
as Ureides. These compound, also have a
particularly high nitrogen to carbon ratio.
[NC4-162, 163]
Statement |:

Cell division is a very important process in all living
organism.

Statement |l :
The cell cycle is divided into two basic phases.

[NCERT4-102]

On the basis of the mode of pouring of their
secretions, glands are divided into two categories
namely exocrine and endocrine glands. Exocrine
glands secrete mucus, saliva, earwax, oil, milk,
digestive enzymes and other cell products. These
products are released through ducts or tubes. In
contrast endocrine glands do not have ducts.
[NCERT-I-310, 311]
Patella - Hind limb bone
[NCERT--32]
In chlorophyceae most of the members have one
or more storage bodies called pyrenoids located in

the chloroplasts. Pyrenoids contain protein besides
starch.

[NCERTH-275]

Receptors associated with aortic arch and carotid
artery also can recognise changes in CO, and H*
concentration and send necessary signals to the
rhythm centre for remedial actions. The role of
oxygen in the regulation of respiratory rhythm is
quite insignificant.

[NC4-30-39]

Algae are chlorophyll-bearing, simple, thalloid,
autotrophic and largely aquatic (both fresh water
and marine) organisms. Pteriodophyte are the first
terrestrial plants to possess vascular tissues —
xylem and phloem.

First chlorophilous thallophyte is algae

First thallophyte with embryo is bryophyte

First plant have embryo & vascular tissue is
pteridophyte

Seed habit occurs in Selaginella

First time seed in gymnosperm

' 170, 3)

176. (3) [NCERTH-204]

T T A AFTFY Ao 9 & A a9
TR wEgee & R & w1 F A9 W B W
it ¥ BT 2 I AFESA F IS FEA A

R
177. (3) [NC-1-162, 163]
hYd -1
HIREF e o i § BF ARl 35 FEeaget
o B B
YT -l
T TR T A T TS H ey T 2
178. (3) [NCERT4-102]

- I uE ¥ st i Ao T8 e
|

— UrIF TIEH e 96l 99 §

[NCERT-1-310, 311]
e - gEEe Ry
180. (2) [NCERT4-32]
EAHIES HIeH g9 W g v 8
181. (4) [NCERT-275]

U @ gae 8 8 o o Rew I & whew e
¥ 2T 7, 9% i F94 CO, 3R H & gf &
L3

182. (2)
a. Y FaRhad dArmEe 9 B

b. T YT T FeAIHIET AT &
c. U YU a1 §asd FHash dlel g SRewrEe @
d. 4T vy Refmar ¥ art S 2

e. T S5 gad 9 g B §

[NC-1-30-39]
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183. (4) [NC-1-67]
+ Both (A) and (R) are correct and (R) is the correct
explanation of (A)
184.(2) [NCERT-I-169]
The stage between the two meiotic divisions is called
interkinesis and is generally short lived. Interkinesis
is followed by prophase Il, a much simpler prophase
than prophase I.
185. (3) [NC-I-216 to 219]
In calvin cycle first stable product
= 3—carbon compound
= 3—phosphoglyceric acid
In hatch and slack pathway first stable product =
4- carbon compound oxaloacetic acid.

SECTION-B—(PART-2)

186.(2) [NCERT-I-17]
The three-domain system has also been proposed
that divides the Kingdom Monera into two domains,

leaving the remaining eukaryotic kingdoms in the

third domain and thereby a six kingdom I

classification. You will learn about this system in
detail at higher classes
187. (2) [NC-li-246, 247] |
Human placed at all trophiclevel except first trophic
level.
188. (4) [NC-1I-251] I
Description of ecological succession usually fo-
cuses on changes in vegetation. However, these
vegetational changes in turn affect food and shel-
ter for various types of animals. Thus, as succes-
sion proceeds, the numbers and types of animals
and decomposers also change.
189. (3)
. CFCs -
. N,0 =
. CH, -
. Co, -
190. (2)
(1) is true but (R) is false
191. (2)

[NC-lI-281]
14%
6%
20%
60%
[NC-1-243]

[NCERT-I-220]

Mean annual temperature (°C)

250 300 350 400

ion (cm)

50 100 150 200 150

Mean annual p:

183. (4) [NC-1-67]

« 2F A 3R R8I 2 3R R, A 5 9&) =gRed] el 21
184.(2) [NCERT-I-169]
Ao | 3R snfe femem 1 & S A
BIET T T FHATATEA FES |
185. (3) [NC-1-216 to 219]
Hfead TF FT T
= 3- HERTEdE T
o B 3- TEA ANE
TI T WAF I H = HFAAERE 3
JYH = IHE 4 - & IS
SECTION-B—(PART-2)

186.(2) [NCERT--17]

q:mﬁmﬁaﬁwqaﬁrifiﬁﬁﬁﬁwmﬁa‘raﬁﬂﬁ
afer T o

187. (2) [NC-II-246, 247]

TS = Y2 90T TR =l B 319 I 9I90r W

W @l o e &

188. (4) [NC-II-251]
AR TGRITeR FeraoT &1 faeRor aFeafasr
RIS W FiaT 2ar 71 Sl 9% ¥ J I
qRae, A IR & WFEd & @ 3T IR
W NG e B I S-S ST aed #,
WY & YR U9 HEg] 997 AT ) 9eed 8 |

189. (3) [NCAI1-281]
. CFCs - 14%
- NO - 6%
- CH, - 20%
- CO, - 60%
190. (2) [NC-lI-243]
(1)=& & ofrs (R) T &
191. (2) [NCERT-I-220]
famg & waiiE g7 AW ¥ ¥ uE & HeF
Haiferer 99 9T ST

3 wifdE e (o)

o 5.‘-': = gHm &l e g

200 250 300 0 400 4s0

g A i (E)

T T
ap 100 130
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192.

193.

194.

195.

196.

197.

198.

199.

200.

@)

@)

@)

@)

@

M

@)

@)

@)

[NCERT-II-267]
India now has 14 biosphere reserves
[NCERT-II-261,262]
Both (A) and (R) are true and (R) is the correct
explanation of (A)
[NCERTHlI-259]
Species diversity: The diversity at the species level.
For example, the Western Ghats have a greater
amphibian species diversity than the Eastern
Ghats.
[NCERT-1-96,97]
Statement I:
Spring wood and Autumn wood are a type of
secondary xylem.

Statement Il :
Lenticles Helpful in gaseous exchange.
[NCERTH-89]
Statement I:
Cuticle absent in roots |
Statement Il :
Each stomais composed of two bean shaped cells |
known as guard cells which enclose stomatal
aperture
[NC-1-68 to 71]
Statement |
In Pea leaf are converted into tendril for climbing
Statement Il :
In pumpkin stem are converted into tendrils for
climbing
[NC-11-200]
Statement I:
The tumor inducing (Ti) plasmid of Agrobacterium
has now been modified into a cloning vector
Statement I :
Retrovirus in animals have the ability to transform
normal cells into cancerous cells.
[NC--12]
Statement |
Biological museums are generally set up in
educational institute such as schools and collages.
Statement Il :
Indian botanical gardens situated at howrah.
[NC-I-303,304]
Statement-I- Skeletal muscles are straited in
appearance.
Statement - Il - Smooth muscles are Involuntary
Neurogenic.

192. (3)

193. (4)

194. (4)
_)

-

195. (4)

196. (2)

197 (1)

198. (3)

199. (4)

200. (3)

[NCERTA1-267]
14 Sawvse SRiETET RT § IR 7
[NCERT-1-261,262]
(A) 3R (R) AT T & 3R (R) 9El = & (A) =l
[NCERT-II-259]
safire fafemar sifaa) % o ol 2
g faferar 7 feior fordt & ¥ o S Al
SfE & TR A B ®
[NCERT-1-96,97]
YA -1:
IO T 3 /T I Fae SiEem & TR 3
%y -l :
AT T P HEF -TH ¥ TEEF S |
[NCERT-1-89]
Yy -1:
FIERE TS A IS B 2
Y -l :
TF T ¥ ¥ F R FT 3 IR B 2

R 8R FET Fed 21 o 5 =i s T o=
e & 7

[NC-1-68 to 71]
Y -1:
X H Il e & fore yae A sew W 2
Yy -1l :
g ¥ I e & oy gaM « e W 2
[NC-11-200]
Sy -1:
YR @1 TR AR F arer (Ti) <
AT FATSF B T ¥ 319 T T foar I B
%y -1l :
THEREY] F U G SR i S S
FAfART ¥ TR A T &R Bl 2
[NC4-12]
Y -1
e s I A awml o e T
Hieron § TG fHe e 2
®Yd -1l :
Titeae sicfee I wEE ¥ foug 2
[NC--303,304]
FUA- FHE 9 e F W& e 39 2
& - II- R 39 sRfes =RefE a9 21
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